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Question Number : 1 Question Id : 5362284390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The modality of 'teaching' has to be differentiated from 'training' or 'instructing' in terms of
which of the following learming outcomes?

Disciplined and patterned behaviour
Critical and creative thinking

Firm and durable association of 1deas
Quick feedback

ol b e

Options :

53622817101. 1
53622817102. 2
53622817103. 3
53622817104. 4

Question Number : 1 Question Id : 5362284390 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817101. 1
53622817102. 2
53622817103. 3
53622817104. 4
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Question Number : 2 Question Id : 5362284391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the given learner characteristics are associated with field dependent
(holistic/visual) learning style?

1) Focusing on facts and principles

1) Relating concepts to personal experience

111) Formal interaction with teacher related to tasks at hand
1v) Preferring to compete rather than cooperate

v) Preferring to cooperate rather than compete

vi) Perceiving global aspects of concepts and materials
Choose the correct answer from the options given below:

1), 11) and 111)

1). 111) and v)

11). v) and v1)
). v) and vi)

R ok

Options :

53622817105. 1
53622817106. 2
53622817107. 3
53622817108. 4

Question Number : 2 Question Id : 5362284391 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (1). (1) 3T (i11)
2. (). (i) 3T ()
3. (if). (v) T (vi)
4. (iv). (v) HIT (vi)
Options :
53622817105. 1
53622817106. 2

53622817107. 3
53622817108. 4

Question Number : 3 Question Id : 5362284392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following potential factors affecting teaching are related to 1nstructional
facilities and learning environment?

1) Praise and encouragement by teachers

1) Non availabihity of textbooks/reading materials for use
11) Proactive moves in the interactive processes

1v) Shortage of highly qualified teachers

v) Availability of smart classes

Choose the correct answer from the following options:

1. 1).11) and 11)

2. 1).111) and v)

3. 1. 1v)yand v)

4. 1m1),1v) and v)
Options :

53622817109. 1
53622817110. 2
53622817111. 3
53622817112. 4

Question Number : 3 Question Id : 5362284392 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (i), (i) 3T (i)
2. (i), (i) 3R (v)
3. (i), (iv) 3T (v)
4, (iii), (iv) 3T (v)

Options :

53622817109. 1
53622817110. 2
53622817111.3
53622817112. 4

Question Number : 4 Question Id : 5362284393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

When the 'test data’ tell us about a student's level of proficiency in a defined area, the
procedure of evaluation 1s called

Formative evaluation
Summative evaluation
Norm-referenced testing
Criterion-referenced testing

L

Options :

53622817113. 1
53622817114. 2
53622817115.3
53622817116. 4

Question Number : 4 Question Id : 5362284393 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

536228171131
53622817114. 2
53622817115.3
53622817116. 4

Question Number : 5 Question Id : 5362284394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s indicative of iInnovations in evaluation system at present?

Semesterization system

Project based evaluation system
Choice based credit system
Objective based evaluation system

s

Options :

53622817117. 1
53622817118.2
53622817119. 3
53622817120. 4

Question Number : 5 Question Id : 5362284394 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817117. 1
53622817118.2
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53622817119. 3
53622817120. 4

Question Number : 6 Question Id : 5362284395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the qualitative research designs from the list given below:
1) Exploring common experiences of individuals to develop a theory
1) Controlling. manipulating. observing and measuring the effect
1u1) Exploring the shared culture of a group of people

1) Exploring individual stories to describe the lives of people

v) Extending generalizations from sample to population

Select the correct answer from the following options:

1). 11) and 1v)
1). 11) and 11)
11). 11) and v)
4, 11). 1w)and v)

ol

Options :

53622817121. 1
53622817122.2
53622817123.3
53622817124. 4

Question Number : 6 Question Id : 5362284395 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (i), (i) 3T (iv)
2. (i), (i) 3T (i)
3. (i), (i) AT (v)
4. (ii), (iv) AT (v)

Options :

53622817121. 1
53622817122.2
53622817123.3
53622817124. 4

Question Number : 7 Question Id : 5362284396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following shows the correct sequence in undertaking Action Research based
studies?

Planning, Acting on the plan. Observing and Reflecting
Acting on the plan. Observing, Planning and Reflecting
Reflecting, Planning. Acting on the plan and Observing
Acting on the plan. Reflecting, Planning and Observing

Ll

Options :

53622817125. 1
53622817126. 2
53622817127.3
53622817128. 4

Question Number : 7 Question Id : 5362284396 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622817125 1
53622817126. 2
53622817127.3
53622817128. 4
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Question Number : 8 Question Id : 5362284397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Application of ICT in research 1s relevant in which of the following stages?
1) Survey of related studies

1) Data collection 1n the field

111) Data Analys=is

1v) Writing the thesis

v) Indexing the references

Choose the most appropriate option from those given below:

11), 1v) and v)

1), 111) and v)

1), 1) and 1v)
i1). 111) and 1v)

e Rl b

Options :

53622817129. 1
53622817130. 2
53622817131.3
53622817132. 4

Question Number : 8 Question Id : 5362284397 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (ii). (iv) T (v)
2. (i) (111) 3T (v)
3. (1). (i) T (iv)
4. (ii). (i) #T (iv)
Options :
53622817129. 1
53622817130. 2

53622817131.3
53622817132. 4

Question Number : 9 Question Id : 5362284398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

|List T |List IT

(Key Terms used in o

IResearch) (Description of Terms)

Ia} Hypothesis |i} Techniques used for collection of facts and information

|b} Sample |i_i) Devices for arrving at conclusions

S itosanmch esign 11) A tentative statement indicating potential solution of the
problem of study

!d} Research Tool Iiv) A subset drawn from a defined set

| |v} Conceptual framework for conducting research

Select the correct answer from the options given below:

a)-1), b)-1n). ¢)-m). d)-1v)
a) - 11). b) - 1ii). ¢) - v): d) - V)
a) -1), by -1), ¢)-1w); d) - 1m)
a) - m)b) -1v), ) -v); d)-1)

Rl -

Options :

53622817133. 1
53622817134.2
53622817135.3
53622817136. 4

Question Number : 9 Question Id : 5362284398 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. (a)-G). () - (i), (c) - (3id). (d) - (iv)
2. (a) -Gi). (b) - (iii). () - (iv). (d) - (+)
3. (a) Q). (b) - (ii). () - (iv). (d) - (ii})
4. (a) -Gii). (b) - (iv). () - (v). (@) - ()

Options :

53622817133. 1
53622817134.2
53622817135. 3
53622817136. 4

Question Number : 10 Question Id : 5362284399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A researcher reports his'her research finding to the research audience in such a way that
his’her personal views are necessarily getting supported. This would invelves issues
relating to

Technical aberration
Researchethics
Seientifie rigour
Personal predilection

e 00 13

Options :

53622817137. 1
53622817138. 2
53622817139. 3
53622817140. 4

Question Number : 10 Question Id : 5362284399 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0
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Options :

53622817137. 1
53622817138. 2
53622817139.3
53622817140. 4
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Question Number : 11 Question Id : 5362284400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements. one is labelled Assertion (A) and the other 1= labelled
Reason (R)

Assertion (A): Depending upon the classroom situation. some media of communication are
more effective than others.

Reason (R): Selection of a medium 1s directly related to the nature of the message for
students

In the light of the above. choose the correct answer from the options given below:

Both A) and R) are true and R) is the correct explanation of A)
Both A) and R) are true but R) 1= not the correct explanation of A)
A) 1s true but R) 1s false

A) 1 falze, but R) 1s true

Ll .

Options :

53622817141. 1
53622817142.2
53622817143.3
53622817144. 4

Question Number : 11 Question Id : 5362284400 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT A FuT RT T § - FHa vF F dFFH (A AR FIF TF R)F T H
=g & T £

HHFAF (A) : Fam 7 FATT F 3HX FIGT F FT ACTA F g FH ol H
T guET B9 2

% (R): oFET Arems &1 999 o F T g F g5 ¥ Hur g9y @ gl

#7r TT 7T T § ¥ HE 3097 F T4 FL O
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4. (A) 7T § =g (R) TEI &I

Options :

53622817141. 1
53622817142. 2
53622817143.3
53622817144. 4

Question Number : 12 Question Id : 5362284401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Communication skills of students can be improved by

a) Asking general questions

b) Exposure to new technology

¢) Fostering critical thinking

d) Discriminant use of vocabulary

e) Limited listening

Choose the most appropriate answer from the options given below:
a). b) and c)

b). ¢) and d)

c), d) and e)
a). d) and e)

0 D

Options :
53622817145. 1
53622817146. 2



53622817147.3
53622817148. 4

Question Number : 12 Question Id : 5362284401 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
STEl F HIWOT Ftere F FEFH HFTAT § FURT AT FFaT &

(a) HIHATT 937 JoHT

(b) TE GeATHr F TETF F A
(c) BHTeTcRS g & gfrar 1 g3fda #=¢

(d) ergTerell T [A¥ET 39aeT gEARad
(c) EfHT sF0T AT

g o v Rreat # @Er 30T F71 T FifFT

1. (a). (b) 3T (c)
2. (b). (c) HIT (d)
3. (e) (d) HT (¢
4. (a). (d) AT (o)

Options :

53622817145. 1
53622817146. 2
53622817147.3
53622817148. 4

Question Number : 13 Question Id : 5362284402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Structured classroom communication can be categorized as

1. Inter-personal communication
2. Vertical communication

3. Group communication

4. Cross-purpose communication

Options :

53622817149. 1
53622817150. 2
53622817151. 3



53622817152. 4

Question Number : 13 Question Id : 5362284402 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TITEAT FET-HIGUT FT F&T o7 FFaT & -

¥a-3uSaF guuoT
2. FeaTaT 9yoT
. HIHEF HIEoT

4. gOraa U =R
Options :
53622817149. 1
53622817150. 2

53622817151.3
53622817152. 4
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Question Number : 14 Question Id : 5362284403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For effective communication inside a classroom. a teacher should embark upon

Ideoclogical leanings
Innuendos

Issuing attention commands
Listener analysis

Mol PRl

Options :

53622817153. 1
53622817154. 2
53622817155.3
53622817156. 4

Question Number : 14 Question Id : 5362284403 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :



53622817153. 1
53622817154.2
53622817155.3
53622817156. 4

Question Number : 15 Question Id : 5362284404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The concept of entropy as used In communication 1s related to

Virtual reality
Marketplace

Order

Communicative language

e o

Options :

53622817157 1
53622817158. 2
53622817159. 3
53622817160. 4

Question Number : 15 Question Id : 5362284404 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817157 1
53622817158. 2
53622817159. 3
53622817160. 4
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Question Number : 16 Question Id : 5362284405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The next number in the given series is
196. 384, 736.

1. 1344
2. 1244
3. 1434
4. 1544

Options :

53622817161. 1
53622817162.2
53622817163. 3
53622817164. 4

Question Number : 16 Question Id : 5362284405 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 71T 7 F 3e0AT gEAr FIT FET 7196, 384, 736,

1544
1244
1434
1544

L

>

Options :

53622817161. 1
53622817162.2
53622817163. 3
53622817164. 4

Question Number : 17 Question Id : 5362284406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Find the missing letters in the seres:
BCA, YZX, EFD. HIG

UVW
VWU
WvuU
VUW

et

Options :

53622817165. 1
53622817166. 2
53622817167. 3
53622817168. 4



Question Number : 17 Question Id : 5362284406 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e s o°d A& FAT § : BCA. YZX. EFD. .HIG

UVW
VWU
WVU
VUW

b —

e

Options :

53622817165. 1
53622817166. 2
53622817167.3
53622817168. 4

Question Number : 18 Question Id : 5362284407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Vinod's mother-in-law 1s the mother of Amit's mother-in-law. How 1s Vinod related to Amit?

Vined 1s brother of Amit
Vinod 1s father of Amit

Vinod 1s uncle of Amit

4. Vinod is father-in-law of Amait

G0 b

Options :

53622817169. 1
53622817170. 2
53622817171.3
53622817172. 4

Question Number : 18 Question Id : 5362284407 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817169. 1
53622817170. 2
53622817171.3
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53622817172. 4

Question Number : 19 Question Id : 5362284408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In a certain code, FISH 1s written as EHRG. The code for JUNGLE will be

ITNFED
KVOHMF
ITMFED
TIMFED

Ll

e

Options :

53622817173. 1
53622817174. 2
53622817175.3
53622817176. 4

Question Number : 19 Question Id : 5362284408 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U fAf9ed F¢ # FISHHI EHRG for@r S1@r &1 JUNGLE % foIv e a1 ghm 2

ITNFED
KVOHMF
ITMFKD
TIMFED

da L o e

Options :

53622817173. 1
53622817174.2
53622817175. 3
53622817176. 4

Question Number : 20 Question Id : 5362284409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

63% of emplovees In a company are female. If the number of male emplovees 1s 111. then
the total number of employees 1s

270
280
300
310

oo il

Options :
53622817177 1
53622817178. 2



53622817179. 3
53622817180. 4

Question Number : 20 Question Id : 5362284409 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fordlr Fuelr 7 63% FHRIT Afgarw €1 3T T sl f w2 1118
FHEATEN FT FoT gEAT FFae € 0

1. 270
2. 290
3. 300
4, 310
Options :

53622817177. 1
53622817178. 2
53622817179. 3
53622817180. 4

Question Number : 21 Question Id : 5362284410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"Everyvone believes that there 1s a soul. Therefore, you should also believe it." This inference
commits which kind of fallacy?

Ad hominem

Ad populum

Fallacy of Accident
Fallacy of Ambiguity

RR Dl

Options :

53622817181. 1
53622817182.2
53622817183.3
53622817184. 4

Question Number : 21 Question Id : 5362284410 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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1. Uz giffes
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Options :

53622817181. 1
53622817182. 2
53622817183.3
53622817184. 4
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Question Number : 22 Question Id : 5362284411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"(God 1s great because He does great things". This inference commits which kind of fallacy?

Ad populum

Fallacy of Composition
Fallacy of Division
Petitio Principn

e BRI =

Options :

53622817185. 1
53622817186. 2
53622817187.3
53622817188. 4

Question Number : 22 Question Id : 5362284411 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"$93T FEA § FIfh Jg HElA F14 FIAT &' IF HIAA H 7 TFR F g

1. U% 9iqeH
. "I /EET g
. g - g

4. HTCATHT 29
Options :
53622817185. 1
53622817186. 2

53622817187. 3
53622817188. 4
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Question Number : 23 Question Id : 5362284412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Amil's participation in classroom 1s indifferent. His parents do not find him to be active
either.But his performance in examinations. ranges from being good to outstanding.
Therefore, he must be studying privately. in a clandestine way. This 1s an example of which
kind of Pramana?

Upamana (Comparison)
Anumsna (Inference)
Anupalabdhi (Non-apprehension)
Arthapatti (Implication)

Ll

Options :

53622817189. 1
53622817190. 2
53622817191. 3
53622817192. 4

Question Number : 23 Question Id : 5362284412 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FeMFE A Aol FT AT 38T &1 3TF AF-ar o 39 g§fFa 787 79 £
TIq TS & 3HH TG 0T § A 3cpsC a% gl 37 I8 96 ¥ THT & T
9SAT | TE ohT TR F THIOT FT 3EEN0T £ 7

é

Fag
%

4. Ul

Options :

53622817189. 1
53622817190. 2
53622817191. 3
53622817192. 4

Question Number : 24 Question Id : 5362284413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The distinction between purvavat and sesavat 1s made with reference to which of the
following pramanas?

Anumana (Inference)
Pratvaksa (Perception)
Comparizon (Upamana)

Abhava (Absence)

PR e N

Options :

53622817193. 1
53622817194. 2
53622817195. 3
53622817196. 4

Question Number : 24 Question Id : 5362284413 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

featafad & & fFg 9707 ¥ Feat § iaq #X AvEs F 3 fRar a0

1. HeIHATA
2. Hedd

3
4. HAEF

Options :

53622817193. 1
53622817194. 2
53622817195.3
53622817196. 4

Question Number : 25 Question Id : 5362284414 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which sentence cannot fit into the AEIO framework?

No salt has 1odine

The salt on the table has 1odine
All salt has 1odine

Some salt has 1odine

e b

Options :

53622817197. 1
53622817198. 2
53622817199. 3
53622817200. 4

Question Number : 25 Question Id : 5362284414 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

FIA-TT IFT T F 3 37 A F ITGFT ALY 2 TFAT

AT W I@ F8F H ¥OET €
T AFF H ¥EIET £
FC dAHF H AT 8

N

Options :

53622817197. 1
53622817198. 2
53622817199. 3
53622817200. 4

ForarF F oA ag g &

Sub-Section Number : 2
Sub-Section Id : 536228174
Question Shuffling Allowed : Yes

Question Id : 5362284415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension

Data 1n respect of Demand and Production of Computers of five companies. A - E are shown
in the figure. Based on the data. answer questions that follow

1650
Ifllﬂll:l'.L
E

® Number of Computers Production

Computers: Demand & Production
0 1350

2000
125
1000 900
500 600
= . I
A B C D

Name of Companies

§.

No. of Computers
[

g

=

B Number of Computers Demand



Sub questions

Question Number : 26 Question Id : 5362284416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of companies having more production than demand to that of
companies having more demand than production 1s

3:2
1:4
4:1
2:3

el il e

Options :

53622817201. 1
53622817202. 2
53622817203. 3
53622817204. 4

Question Number : 27 Question Id : 5362284417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which company has minimum demand to production ratio?

L0 DD
HEOOWE

4,
Options :
53622817205. 1
53622817206. 2
53622817207. 3
53622817208. 4

Question Number : 28 Question Id : 5362284418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The difference between average demand and average production of computers of all
companies combined together iz

950
190
180
850

kel o

Options :

53622817209. 1
53622817210. 2
53622817211.3



53622817212. 4

Question Number : 29 Question Id : 5362284419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The demand for computers 1s less than the production of computers in how many
companies?

Lo =
b = L0

Ll

Options :

53622817213. 1
53622817214.2
53622817215.3
53622817216. 4

Question Number : 30 Question Id : 5362284420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The demand of computers of Company D 1s more than that of the demand of the computers
of Company B by

1.5 times
2 times
2.b times
3 times

el L

Options :

53622817217. 1
53622817218.2
53622817219. 3
53622817220. 4

Question Id : 5362284415 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (26 to 30)
Question Label : Comprehension



AT -

A - E Ot Fuferal F Feogedt #1 Al A Sc0ea Haiad 33 A g w3 E) e
HTFST F YR 97 26- 30 BT 71T 99T & 377 & a0

PR ; T AR I

2500
2000
2000
1650
% 1000 o 11N
1000
500 600
500 300 l
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A B C 3] E

dufal & am
RHFYR DI TSN A e HFYR T ES - TG

Sub questions

Question Number : 26 Question Id : 5362284416 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT HT JoIam F 377UF 3e9EA el FAAAT T HEAT 3T 3c9EA F HOF AT
ITAT FITAAT FEAT FT 79T ¢

ES SV B
= L
LI A

I

Options :

53622817201. 1
53622817202. 2
53622817203. 3
53622817204. 4

Question Number : 27 Question Id : 5362284417 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

fFe F9er #r Al 3T Ie9EA F HFIF ZAqH € 2

o
1 o ™

Options :

53622817205. 1
53622817206. 2
53622817207.3
53622817208. 4

Question Number : 28 Question Id : 5362284418 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

U T BHT FAEAT F Foged F AET 7AW AR HET 39S FOAT E

950
190
180
850

Lo bl

i

Options :

53622817209. 1
53622817210. 2
53622817211. 3
53622817212. 4

Question Number : 29 Question Id : 5362284419 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FTIEAT T HFT 3% 30916 F AIET Fhaer Fedr H F7 g 2

bd

L]
I_.'I—-r_.u.l;x

o

Options :

53622817213. 1
53622817214.2
53622817215.3
53622817216. 4

Question Number : 30 Question Id : 5362284420 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

FIAT DF FEIA P AT FIAT B F FSU FT AT HI Jolal § HOF ¢ ¢

1. 1L53ET

. 29T
3. 257

4. 39T
-

| ]

Options :

53622817217. 1
53622817218.2
53622817219.3
53622817220. 4

Sub-Section Number : 3
Sub-Section Id : 536228175
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5362284421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The term Plotter is best described as:

An input device to produce good guality graphics

An output device to produce drawings and graphics

A fast storage device for storing good guality graphics

A multipurpose device for taking inputs as well as outputs

e paha b

Options :

53622817221. 1
53622817222.2
53622817223. 3
53622817224. 4

Question Number : 31 Question Id : 5362284421 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el ATHTFS H FaF e Sw aE g g & 0

1. 30T UTEedl +F TTHFH Jad I il $A9e ZagH

. 3E AT FMMBFH T F{ arell H13eIE 398

3. H=O! qUTEcdT drel TMHE F HIg0 & AU 3= gagor Basy
4. AYE F WY -G HEFIYE oA F U agsedy Raww

Options :
53622817221. 1

[ E]




53622817222.2
53622817223. 3
53622817224. 4

Question Number : 32 Question Id : 5362284422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s correct with respect to the size of the storage umts?

Terabyvte <= Petabyte = Exabyte = Zettabyte
Petabyte < Exabyvte = Zettabyte = Terabyte
Exabyte = Zettabyte = Terabyte <= Petabyte
Zettabyte = Exabyte = Petabyte = Terabyte

L SR L

Options :

536228172251
53622817226. 2
53622817227. 3
53622817228. 4

Question Number : 32 Question Id : 5362284422 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

MERUT SHFEA F IR F e # aa@a g #la wr & 2

ot

. TUEEC < YCTaIsc < UFHMEEE <FZESe
YTTETSE < UFHTEISE <HASTETEC < SIS
. THHEEE <AAgEEe << {[dEe < UTEEe
4. HATTEISC < UFHIEEE < YSTEISE <ca5E

| B

Laa

Options :

53622817225. 1
53622817226. 2
53622817227.3
53622817228. 4

Question Number : 33 Question Id : 5362284423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

E-commerce involves buyving and selling of:

International goods

Electronic goods

Products related to computers

4. Products and services over the Internet

L e R

Options :
53622817229. 1



53622817230. 2
53622817231.3
53622817232. 4

Question Number : 33 Question Id : 5362284423 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

SFHY 7 Aeatarag # e 9 3t Teg s £ 0

=

Hea S TEQU
) E Uﬁ A
. FFCET ¥ HENT 37

. SIdE 9 3c9I¢ U9 §EU

| ]
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Options :

53622817229. 1
53622817230. 2
53622817231. 3
53622817232. 4

Question Number : 34 Question Id : 5362284424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other as Reason (R):

Assertion (A): An Intranet is a private network for sharing computing resources and
information within an organization

Reason (R): Intranet is private version of the Internet

In the light of the above two statements. choose the correct answer from the options given
below

Both A) and R) are true and R) 1s the correct explanation of A)
Both A) and R) are true but R) 1s not the correct explanation of A)
A) 1= true, but R) 1= false

A) 1s false, but R) 1s true

e i D e

Options :

53622817233. 1
53622817234.2
53622817235. 3
53622817236. 4

Question Number : 34 Question Id : 5362284424 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HiFFUT (A) HT FF (R)FHF & a7 A= T o ¥

FAFFYF (A) : ST FE T F iy INEFas TEYE HT I A S
F for o= st JTa+

% (R) : 3TC STAT FT =T FERIOT £

IUUFT FAAT F HTolF H TR FEeT Ay

1. (A)TYAT (R) ST Tar & AT (R) (A) F7 TEr =areE g

(A) T4T (R) AT HWET & U= (R) (A) T HeT =TT Fel ¢
3. (A) HET & Al (R) 7T T

4. (A)IeIT & ST (R) WY 21

| ]

Options :

53622817233. 1
53622817234.2
53622817235.3
53622817236. 4

Question Number : 35 Question Id : 5362284425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following devices allows a user to copy an external document and save 1t 1n
electronic form onto a computer?

Spammer
Scanner
Printer

4, Plotter

el el

Options :

53622817237. 1
53622817238. 2
53622817239. 3
53622817240. 4

Question Number : 35 Question Id : 5362284425 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FofET & § F19 T 30T TAFATHT FT ZFATaS F HUT FA TF §H FFoged
H FoEeliets &9 H FIiaa Fa 7 AT dar ¢ 2

Options :

53622817237. 1
53622817238. 2
53622817239. 3
53622817240. 4

Question Number : 36 Question Id : 5362284426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

From the following list, identify the sources of sohid waste:

1) Residential areas
11) Oceans

111) Institutional areas
) Agriculture

v Dust storms

Select the correct answer from the options given below:

1. 1), 11) and m1)

2. 1), 1m) and 1v)
3. 11).1v)and v)
4. 1).111) and 1v)

Options :

53622817241. 1
53622817242. 2
53622817243. 3
53622817244. 4

Question Number : 36 Question Id : 5362284426 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TeafofEs g & & 39 Hulrse & @Er 1 99 Hw
(i) FTETET 8T
(11) HITHTTY
(iii) HTETTAS &7
(iv) F
(v) g& &1 3mef
A U ov Sedl ¥ G2 3087 F1 9949 HST
1. (i), (i) 3T (iii)

2. (i), (i) 3T (1)
3. (i), (iv) 3T (v)
4. (i), (iii) AT (i)

Options :

53622817241. 1
53622817242. 2
53622817243. 3
53622817244. 4

Question Number : 37 Question Id : 5362284427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sources of soil pollution from the following hist:

1) Industrial effluents

11) Eutrophication

111) Unscientific disposal of nuclear waste
Iv) Off-shore o1l drmlling

V) Improper management of septic systems

Choose the correct answer from the options given below:

1). 11} and 111)
11). 111) and 1v)
1). 111) and v)
4, 1), 1v) and v)

o e

Options :

53622817245 1
53622817246. 2
53622817247. 3
53622817248. 4



Question Number : 37 Question Id : 5362284427 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feafof@a = & & Fqar 99T F F@ar 1 9g=a fifew
(i) e IfE a0
(ii) FEITerar
(i1} ATHRT 3ufree F1 3SAT=F Fearor
(iv) 3T oo @aa ()

(v) T gonfeat @1 3T ge9ud
FeofEa & ¥ g TFeT F1 739 fifav .

1. (i), (i) AT (i)
2. (i1). (i) 3T (iv)
3. (1), (i) 3T ()

4. (i), (iv) 3T (v)

Options :

53622817245. 1
53622817246. 2
53622817247.3
53622817248. 4

Question Number : 38 Question Id : 5362284428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements represents mangrove characteristics as a safety hedge?

The mangrove trees are tall with dense canopies

The mangrove trees provide both food and medicines

The mangrove swamps separate the human settlement from the sea

The mangrove trees protect vulnerable coasthines as they hold =o1l together

00 19

Options :

53622817249. 1
53622817250. 2
53622817251. 3
53622817252. 4

Question Number : 38 Question Id : 5362284428 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

fF=ofEd # ¥ F9-91 Fu9 F=o-a8qia f FIvant H grem e F T A
gafaea s@r & 2

1. F=o-FALIS I & 59 AR TAaK & 2]

FEC-TATAS dTel 387 § WEF- IEqU AT Za0 9 v 2

FO-FATIAINT Gagd ATarg Rl F1 THF & 7T I 21

4. FTO-FALIS AT J&T TS JELEIHT T GIET F9 § FaiF T FJE F7 FE
@y gl
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Options :

53622817249. 1
53622817250. 2
53622817251. 3
53622817252. 4

Question Number : 39 Question Id : 5362284429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the Volatile Orgamiec Compounds (VOCs) are
correct?

1) They cause acid rain

11) They may cause cancer

11) They play an important role in the formation of photochemical smog
Select the correct answer from the options given below:

1) and 11)

11) and 11)

1) and 111)
1). 11). and 1)

00 DD

Options :

53622817253 1
53622817254.2
53622817255.3
53622817256. 4

Question Number : 39 Question Id : 5362284429 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fregfie =9 T (37 3T O F a0 § FeEe@d § ¥ Si9-0 39 g8 8
(i) SThT T ¥ HFAT IO AT g

(ii) ST T ¥ FET &1 TFaT 8l

(i) T TRRTEEF qHF-Fe0 (FA) F &R0 & Agaqur JfFF [T
fFrafolg § ¥ §aius 3999 F%ew &1 794 Fif=v

1. (1) T (i)
(i1) AT (ii1)

3. (i) HT (i)

4. (1). (1) AT (ind)
Options :
53622817253. 1
53622817254. 2

53622817255.3
53622817256. 4

| B ]

Question Number : 40 Question Id : 5362284430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following was the central aim of the Paris Agreement?

1. To reduce the CFCs emissions

2. To strengthen the global response to the threat of climate change
3. To address biological diversity 1ssues

4. To address the problem of ozone layer depletion

Options :

53622817257. 1
53622817258.2
53622817259. 3
53622817260. 4

Question Number : 40 Question Id : 5362284430 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fAeleai@d # ¥ Fia-01 470 gASar F1 €7 3897 § 7

. @ U W 3cHAT F FH FE

Foarg IREds F @AY F Iia 3REF wwe F A7 F
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4, AT T F &0T F FAEAT FT HaT F&T

[ ]

Options :

53622817257. 1
53622817258. 2
53622817259. 3
53622817260. 4

Question Number : 41 Question Id : 5362284431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The ancient Indian University famous for specialized study in 'Hinayana' was

Nadia Umiversity
Nalanda University
Vadlabhi University
Vikramsild University

e IR

Options :

53622817261. 1
53622817262. 2
53622817263.3
53622817264. 4

Question Number : 41 Question Id : 5362284431 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT % afdse srvaaa F v 9@ ani| ad et or .

1. arear FHeafeeaew
CICCREECIERR e

. Feadr FeafEeaeT
4. TaFaEEr FafaaEy
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Options :

53622817261. 1
53622817262. 2
53622817263. 3
53622817264. 4



Question Number : 42 Question Id : 5362284432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the non-conventional learning programmes:

1) Gerontology

1) Psychology

11) Ethical hacking

1v) Anthropology

v) Pet Groomers

Choose the correct answer from the options given below:
1). 11) and 111)

1), 1m1) and 1v)

11), 1v) and v)
1), 11) and v)

ol e

Options :

53622817265. 1
53622817266. 2
53622817267. 3
53622817268. 4

Question Number : 42 Question Id : 5362284432 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



N RFEREE F#oE FEFAr H ggaa fEw
(1) g8 I=ar o=

(ii) FATTAH

(iii) AT FTHT

(iv) FTATATET

(v) TTeTd, TLHT T FEATe

A T aT BeT 7 ¥ 9 3ew 99T

1. (i). (i) 3T (1id)
2. (ii). (iti) AT (iv)
3. (i), (iv) HT (v)
4. (i). (i) HT (v)

Options :

53622817265. 1
53622817266. 2
53622817267. 3
53622817268. 4

Question Number : 43 Question Id : 5362284433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify Key result areas of the Skill Acquisition and Knowledge Awareness for Livelihood
Promotion (SANKALP) project:

1) Institutional strengthening

11) Promotion of handieraft and carpet sector skills

11) Quality Assurance

1v) Inclusion

v} Overseas Employment through an agency

vi) Expanding skills through Public Private Partnership (PPPs)
Choose the correct answer from the options given below:

1), 11). 11) and 1v)

1), 1), 1v) and v)

11). 1v). v) and v1)
4. 1), 1m), 1v) and vi)

e i e

Options :

53622817269. 1
53622817270. 2
53622817271. 3
53622817272. 4

Question Number : 43 Question Id : 5362284433 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frer - HEERE (TFa tTasiee) 9uT 319 - {8AaT (Ao J99EH) il
AEIAEE WA (Hhed) giarsar #r aforfy - &9 fr gg== fifFv
(i) HTEATfTs e
(i) BT R FTelia HSTTT FhreT TIaa
(111) I[OTeAT HATRETHA
(iv) FHET
(v) Frdlr ool & ArewE w Reyr 7 Ruee
(vi) T R - T TR () F meww ¥ e #7 5N
A feT 1T BFeT # ¥ 39 A0 ¢
1. (1). (i1). (i) HT (iv)

2. (i). (iif). (iv) T (v)
3. (i), (iv). (v) AT (vi)
4. (1). (iit). (iv) AT (vi)

Options :

53622817269. 1

53622817270. 2

53622817271. 3
53622817272. 4

Question Number : 44 Question Id : 5362284434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify reform related areas of governance listed by the NITI Aavog in the Three Year
Action Agenda (2017-18 to 2019 - 20) exclusively:

1) Environmental

1) Civil Services

111} Electoral

1v) Corruption related

v) Information and Communication Technology

Choose the correct answer from the options given below:
1), 1) and 111)

11), 1) and 1v)

111). 1v) and v)
1). 1v) and v)

i R

Options :

53622817273. 1
53622817274. 2
53622817275.3
53622817276. 4

Question Number : 44 Question Id : 5362284434 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=g ¥9 ¥ fradfa # aear (2017- 189 2019 - 20) F Aif Fm@eT g@anr g
MTA &+ TFas &%?fﬂ'@'ﬂ'gmﬁmﬁv:
(1) TATETONT
(1) FafEe g@ar
(iii) faT= gy
(iv) AR ¥ Hafag
(v) §=T 3T H= SieanEEhr
A GT 71T Beew 7 § w5 3 g0

1. (i). (if) 3T (iii)
2. (i), (iii) AT (iv)
3. (i), (iv) HT (v)
4. (1), (iv) HIT (v)

Options :
53622817273. 1



53622817274. 2
53622817275. 3
53622817276. 4

Question Number : 45 Question Id : 5362284435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the context of value education, which of the following stages will be considered a
relatively advanced stage?

Value collection through imitation

Value assessment through inner evaluation
Value clarfication through exposure

Value consolidation through integration

s R e

Options :

53622817277. 1
53622817278. 2
53622817279. 3
53622817280. 4

Question Number : 45 Question Id : 5362284435 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
7= e % "o 7 eafoiad & ¥ 59 5FF F A9THd Iead 90T AT
AT 7

1. JFIUT F ATIHA ¥ AsT HFhaad
HEIANF Hediha & ATCAT § FFT & [TURoT

3. SIHRAT F ACTH H HeT FT FIRL0T
4. THEIUT F ANTH ¥ 75T THeA

Options :

53622817277. 1
53622817278. 2
53622817279. 3
53622817280. 4

| ]

Sub-Section Number : 4
Sub-Section Id : 536228176
Question Shuffling Allowed : Yes

Question Id : 5362284436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension



Read the following passage carefully and answer the questions that follow.

Two paradoxes inform and problematize every discursive and practical emplovment of
"human rights". The first 1s substantive and directly political; it concerns the relation
between "the human" and "the political". and belongs to the domain of political ethics 1n
general. The other i1s more nearly epistemological and moral: it addresses the 1ssue of how
one understands and practices the relationship between 1dea and actuality, or moral
unmiversality and cultural relativity. Each stems from the fact that human rights would
cobble together two kinds of concepts and practical relations that are not innately friendly
and treats them as one. ignoring the inherent absence of complementarity in their
relationship. Thus, the discourse of human rights synthesizes and oeccludes paradoxical
features of the origins, history and character of human rights as an idea and a practice,
making it far from self-evident as a conceptual "thing" or guide to moral and political
practice. Paradox has always marked the invocation of human rghts. Since their discursive
inception, the inmitial paradoxes have not been solved so much as layered by new iterations
of them - namely. that initiated in the UDHR (Universal Declaration of Human Rights).
which identifies governments as the promssories for enforcement of human rights. Joining
the paradoxes 1s an overarching feature that articulates human rights as a trans-political
phenomenon besides being a political phenomenon designed to uplhft all human societies.

Sub questions

Question Number : 46 Question Id : 5362284437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The first important area of human rights paradox 1s concerned with

1. Problematization
2. Discursive employment
3. Human practice
4. Political ethics
Options :

53622817281. 1
53622817282. 2
53622817283. 3
53622817284. 4

Question Number : 47 Question Id : 5362284438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The epistemological paradox of human rights refers to the understanding of

1. Human aspects of rights
2. Moral degradation
3. Cultural dimension of human rights
4. Political relations
Options :

53622817285. 1
53622817286. 2



53622817287. 3
53622817288. 4

Question Number : 48 Question Id : 5362284439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s 1gnored 1n comprehending two paradoxes of human rights?

Innate friendliness of paradoxes
Absence of complimentarity
Relationship between 1dea and actuality
Morality 1ssues

e R B

Options :

53622817289. 1
53622817290. 2
53622817291. 3
53622817292. 4

Question Number : 49 Question Id : 5362284440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s missing in the discourse of human mghts?

Self evidence as a concept
Paradoxical features

Exclusion of human rights features
Svnthesis of concept and practice

P G B =

Options :

53622817293. 1
53622817294. 2
53622817295.3
53622817296. 4

Question Number : 50 Question Id : 5362284441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1s added to the existing paradoxes of human rights?

Iteration of UDHR

Universality of human rights
Invocation of human rights

Political phenomenon across borders

ol

Options :

53622817297. 1
53622817298. 2
53622817299. 3
53622817300. 4



Question Id : 5362284436 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 5362284437 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817281. 1
53622817282. 2
53622817283.3
53622817284. 4

Question Number : 47 Question Id : 5362284438 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AAITUFRT % AFHEEF ARy Frates 7 3 Foh gmag ¥ 59T §

1. TR T ATFST 987

. Afa+ a4

. FAFSNUSRT HT FEFa® GAT
4. UATaF TIH

Options :

53622817285. 1

53622817286. 2

53622817287. 3
53622817288. 4

| ]

Faa

Question Number : 48 Question Id : 5362284439 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AEEREd F o T S gr A T F Yy R sqear A A §

[

. HafEar fr s=aeim &
qIF decal N HAE

. oA siir gurd F Ao m@Ey
4. AfTFaT F T2

Options :

53622817289. 1
53622817290. 2
53622817291. 3
53622817292. 4

| ]
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Question Number : 49 Question Id : 5362284440 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AR ot TR F TR A g e v v 0
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Options :

53622817293. 1
53622817294. 2
53622817295. 3
53622817296. 4

Question Number : 50 Question Id : 5362284441 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817297. 1
53622817298. 2
53622817299. 3
53622817300. 4

PART II Education
Section Id : 53622860
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 536228177
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 5362284442 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In the, ‘Developmental stages of Reading” when the child becomes aware of the ways in whick
letters are combined leading to distinct sounds, 1s referred to as

(1) Symbolic stage

(2) Orthographic stage

(3 Blending stage

(4) Pictorial stage

Options :

53622817301. 1

53622817302. 2

53622817303. 3
53622817304. 4

Question Number : 51 Question Id : 5362284442 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
“wag I fErEers sl O, S AT ) S & sred 8 e -fags ven R st o a2 2, a9l
34 FE AT 2
(1)  YelhTegsr Saee
(2) s s
(3) T (Blending) %]
(49  Fems sy
Options :
53622817301. 1
53622817302. 2

53622817303. 3
53622817304. 4

Question Number : 52 Question Id : 5362284443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which of the following mentioned inclusive education as. “to integrate the handicapped with
general community at all levels as equal partners. to prepare them for normal erowth and to
enable them to face life with courage and confidence™?
(1) World Declaration on Education for All (1990)
(2) Rehahbilitation Council of India Act (199%)
(3) National Policy of Education (1986)

(4) Scheme of Integrated Education for Disabled children (1974)



Options :

53622817305. 1
53622817306. 2
53622817307. 3
53622817308. 4

Question Number : 52 Question Id : 5362284443 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fFreaferfaa O | - it 0 waEslt e =1 28 gn 3oomg 2, s i gl S W g | S o my
HAH WRTET % =9 H A/HE 1, e @1 die o Ten dan s i e s steafavaT & |y sfian #
AT T 4 /ey F9H 7

(1) &9 % oo e Haief fvass =oraon (1990)

(20 awdg gEER aiee sfafEg (1992)

(3) I Wi il (1986)

(4) Mo sl & fore wafed e 9 (1974)

Options :

53622817305. 1
53622817306. 2
53622817307. 3
53622817308. 4

Question Number : 53 Question Id : 5362284444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Sarva Shiksha Abhiyan (SSA) adopted which of the following?

(1) Zero Resource Room Policy

(2) Zero Rejection Policy

(3) Zero Acceptance Policy

(4) Zero Home-based Education Policy

Options :

53622817309. 1
53622817310. 2
53622817311.3
53622817312. 4

Question Number : 53 Question Id : 5362284444 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wd fven sfoam (vgemn) 3 Fefafaa 4 @ s 27

(1)  @HmEa Fed Aifd A2

@  Trwaa i aEm

(3)  wHisla difaasm

(4) - smaried foen Hifa 3 @
Options :
53622817309. 1
53622817310. 2

53622817311.3
53622817312. 4

Question Number : 54 Question Id : 5362284445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In. United Nations Convention as the Right of Persons with Disability (UNCRPD) Report the
right to Education has been discussed in which Article?

(1) 40 (2) 20
(3) 42 (4) 24
Options :

53622817313. 1
53622817314.2
53622817315.3
53622817316. 4

Question Number : 54 Question Id : 5362284445 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

femrmrsl & stfersprdl derell @ wg sfuana (7 uq d swcq €0 foard O, slq-4 sg=se O e & sifn
B 3

(1) 40 (2) 20
(3) 42 (4) 24
Options :

53622817313. 1
53622817314. 2
53622817315.3
53622817316. 4

Question Number : 55 Question Id : 5362284446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For-education of CWSN (Chaldren With Special Needs), the concept of Inclusive Education as
laid down in SSA was based upon

(1) Integration Model (2) Medical Model
(3) Multi-Option Model (4) International Model
Options :

53622817317. 1
53622817318.2
53622817319. 3
53622817320. 4

Question Number : 55 Question Id : 5362284446 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Hl Zeerg v vq (Ta9ry sy 9t g=) 1 en % fom, ve vg v b 9o fRaiia aaasi fen £ smaEaon
o e s 27

(1) T ferd wfede (2) Farferedia wfaas
(3)  wg-Tawed laum () st
Options :

53622817317. 1
53622817318. 2
53622817319. 3
53622817320. 4

Question Number : 56 Question Id : 5362284447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following Open Educational Resources (OER) comes under the ambit of Indian
Inmitiatives?

(1) Coursera (2y Edse
(3 E - Gyan Kosh (4) Open Stax
Options :

53622817321. 1
53622817322.2
53622817323.3
53622817324. 4

Question Number : 56 Question Id : 5362284447 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fr=ferfiad gaa e | § 6 #3 o1 qRedrg 98 i 9i o dwd s 27

(L FEm (2) UEH (Edse)
(3) S-FAFMN (4) M=
Options :

53622817321. 1
53622817322.2
53622817323. 3
53622817324. 4

Question Number : 57 Question Id : 5362284448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

An 1ngquiry oriented activity in which the information comes from resources on the internet.
optimally supplemented with video conferencing is called

(1) Digital Technology (2) Bring Your Own Device (BYOD)
(3) Virtual Learning (4) Web Quest
Options :

53622817325. 1
53622817326. 2
53622817327.3
53622817328. 4

Question Number : 57 Question Id : 5362284448 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

il =g o sen forat e donde & e 3 a2l 2 o sad guan w5 fafea sk 5w
Tt Sien 2, 1 0 o S 27

(1)  Tefoea qemh (2) Tom AR 34 feamy (a5 aE.591.9)
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Options :

53622817325. 1
53622817326. 2
53622817327.3
53622817328. 4

Question Number : 58 Question Id : 5362284449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



When teaching learning material iz introduced offline so that learners can access the content
anytime before the class starts and can write down their questions/problems which can be
asked during the classroom 1s called

(1) Virtual classroom (2) Google classroom
(3) Flipped classroom (4) Traditional classroom
Options :

53622817329. 1
53622817330. 2
53622817331. 3
53622817332. 4

Question Number : 58 Question Id : 5362284449 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
S e sferm w1 wivers w9 8 g s 2 arfs sl wal wen % s 89 9 ved
e e Tge Heh AU YA 34 Wl A S =1 fora Heh o A e 1 e weh, i el S8

(1) T 79 51 (2) T FAH EY
(3)  T¥erode FerE w0 (4) ZIZ9He #orm ¥4
Options :

53622817329. 1
53622817330. 2
53622817331.3
53622817332. 4

Question Number : 59 Question Id : 5362284450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
WBL stands for

(1) Wide Based Learning (2) Web Based Learning
(3 Web Biased Learning (4) Web Based Listening
Options :

53622817333. 1
53622817334. 2
53622817335.3
53622817336. 4

Question Number : 59 Question Id : 5362284450 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gayg ol vt = a2
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Options :

53622817333. 1
53622817334. 2
53622817335. 3
53622817336. 4

Question Number : 60 Question Id : 5362284451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For a group of Adult Learners a trainer provides information to enable them to understand
the information for indicating acceptability or non acceptability of their responses. This will be
technically called providing

(1) Prompts for emission of correct behaviour
(2) Feedback of the given response
(3) Judging the value of information
(4) Information linkage device.
Options :
53622817337. 1
53622817338. 2

53622817339. 3
53622817340. 4

Question Number : 60 Question Id : 5362284451 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817337. 1
53622817338.2
53622817339. 3
53622817340. 4



Question Number : 61 Question Id : 5362284452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who has proposed that “organization shall eliminate the need of quality control after the
process’?

(1) Edward Deming (2)  Walter Shewart
(3) C.K. Prahalad (4) Poka Yoke
Options :

53622817341. 1
53622817342.2
53622817343.3
53622817344. 4

Question Number : 61 Question Id : 5362284452 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

form 7w wzma fon & f *avre wfswan & 3aa oraen feem ) stravasa aura g i

(1)  we=ard i (2) daFH AR
(3)  Hi. % g&E (4) I AT
Options :

53622817341. 1
53622817342. 2
53622817343.3
53622817344. 4

Question Number : 62 Question Id : 5362284453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements. represents the rationale underlying “Span of Control™?

(1) One can work effectively for a period of time
(2) One can work with a small number of people
(3) One can make a small group of people to work effectively
(4) One can control a large group of workers.
Options :

53622817345. 1
53622817346. 2
53622817347. 3
53622817348. 4

Question Number : 62 Question Id : 5362284453 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefetfiaa # # =17 |1 e fao et & sidfifea e 2 27
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Options :

53622817345, 1

53622817346. 2

53622817347.3
53622817348. 4

Question Number : 63 Question Id : 5362284454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The main limitation of Bureaucratic management 1s that

(1) Work efficiency gets questioned
(2) Work procedure gets thwarted

(3) Workers have no choice 1n work procedure
(4) Observing rules and regulations without emphasizing work procedure
Options :

53622817349. 1
53622817350. 2
53622817351.3
53622817352. 4

Question Number : 63 Question Id : 5362284454 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AreRTamdl yae #1 ugE W 2
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Options :

53622817349. 1

53622817350. 2

53622817351.3
53622817352. 4

Question Number : 64 Question Id : 5362284455 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which among the following 1s best suited for assessment of social skills?

(1) Checkhst {2) Rating scale
(3) Numerical scale (4) Rubrics
Options :

53622817353. 1
53622817354. 2
53622817355.3
53622817356. 4

Question Number : 64 Question Id : 5362284455 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
AT FI9TA 5 AT o Treferfiad 0 4 s waifs 3uga 27

(1) =g (2)  Frerfoor oy
(3) Tk A (4) THaurae
Options :

53622817353. 1
53622817354. 2
53622817355. 3
53622817356. 4

Question Number : 65 Question Id : 5362284456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

During the course of teaching a teacher very often uses probing questions to clarify student’s
ideas and concepts. This may be linked with which of the following assessment procedures?

(1) Diagnostic assessment

(2) Predictive assessment

(3) Formative assessment

(4) Summative assessment
Options :

53622817357 1
53622817358. 2
53622817359. 3
53622817360. 4

Question Number : 65 Question Id : 5362284456 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817357 1
53622817358.2
53622817359. 3
53622817360. 4

Question Number : 66 Question Id : 5362284457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“Automated. unconsclous mastery of activities and related skills at strategic level” with
reference to classification of objectives of learning in the psychomotor domain proposed by
R.H. Dave means

(1) Mampulation (2) Articulation
(3) Naturahzation (4) Precision
Options :

53622817361. 1
53622817362.2
53622817363.3
53622817364. 4

Question Number : 66 Question Id : 5362284457 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817361. 1
53622817362.2
53622817363.3
53622817364. 4

Question Number : 67 Question Id : 5362284458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who of the following developed the concept of Behaviour shaping through the use of principle
of successive approximation?

(1) Thorndike (2) Watson
(3 Skinner (4) Piaget
Options :

53622817365. 1
53622817366. 2
53622817367. 3
53622817368. 4

Question Number : 67 Question Id : 5362284458 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fretatEs o 5 foeea daird \f-rrad THad & 9159 | =0a8n 1997 & 940 &) iy faam ary
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Options :

53622817365. 1
53622817366. 2
53622817367.3
53622817368. 4

Question Number : 68 Question Id : 5362284459 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following schemes have been subsumed in Samagra Shiksha?

(1) S55A and RMSA (2) RMSA and RUSA
(3) RUSA, 55SA, RMSA and TE (4) SSA,RMSA and TE
Options :

53622817369. 1
53622817370. 2
53622817371. 3
53622817372. 4

Question Number : 68 Question Id : 5362284459 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
freaferfiaa o 6 - arsm aun fen 9 faarfe 6w 27
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Options :

53622817369. 1
53622817370. 2
53622817371.3
53622817372. 4

Question Number : 69 Question Id : 5362284460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which theory of Habermas 1s useful way to explore knowledge and itz impact on student
engagement?

(1) Knowledge-constitutive Interest Theory
(2) Critical Theory

(3) Social Theory

(4) Theory of communicative Action
Options :

53622817373. 1

53622817374. 2

53622817375. 3
53622817376. 4

Question Number : 69 Question Id : 5362284460 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1) TH-57F ¥4 fHgE

(2)  wHEEE maE

(3) = g

(4)  EUIUTEHF FE F THGT

Options :

53622817373. 1
53622817374.2
53622817375.3
53622817376. 4

Question Number : 70 Question Id : 5362284461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What are the three concepts of knowledge proposed by Deng and Luke?

(1) Disciplinary, practical. experiential
(2) Procedural. meta cognitive, practical
(3) Disciplinary, procedural. experential
(4) Factual. practical. experiential
Options :

53622817377. 1
53622817378. 2
53622817379.3
53622817380. 4

Question Number : 70 Question Id : 5362284461 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
20 S o 3 Wl 04 6 o AR S -t =11 87
(1) ST, SHEETE, S
(2)  FFRATEH, TIEAHETHS, AT
(3) VAT, WieEE, s
(4) AT, e, s
Options :
53622817377. 1
53622817378. 2

53622817379. 3
53622817380. 4

Question Number : 71 Question Id : 5362284462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following institutions 1s directly responsible for the professional growth of school
teachers in India?

(1) CSIR (2) NAAC
(3) NCERT (4) EMMRC
Options :

53622817381. 1
53622817382. 2
53622817383.3
53622817384. 4

Question Number : 71 Question Id : 5362284462 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fFrferies # 7 #E-H Ten prd 1 e e 6 smEmt gt F o s =1 8 swar 27

(1)  i.o|. #E. 40, (2) wATTHE.
(3)  UAHIEEWA. (4) T.UR.UH.IEH,
Options :

53622817381. 1
53622817382.2
53622817383.3
53622817384. 4

Question Number : 72 Question Id : 5362284463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which method of the gqualitative research focuses on language and meanings that are given to
texts, for the purpose of ereating and shaping knowledge and behaviour?

(1) Discourse analysis (2) Narrative research
(3) Trend analysias (4) Grounded theory
Options :

53622817385. 1
53622817386. 2
53622817387.3
53622817388. 4

Question Number : 72 Question Id : 5362284463 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e Y ol A H wafa W 3R 39 sel W aE ol @ F 99 AR SHE9En % g9 Ud @ET & 3997
o ATelfEd 1 S 8

(1) Te= hE-[:IIﬂ\'GH]' {2} HTEATETT Fﬂ'u
(3) g v (4) i fagr
Options :

53622817385. 1
53622817386. 2
53622817387. 3
53622817388. 4

Question Number : 73 Question Id : 5362284464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below 1s a summary of ANOVA for four groups of students tested in a research projeet :

Source of 5SS (Sum of df (Degree of MS (Mean sum of
variance squares) freedom) squares
Between groups 76 2 23.33
Within groups 122 16 7.62
What will be the value of ‘'F" for the above data?
(1) 76/122 (2) 3/16
(3) 23.33/7.62 (4) 77.62/23.33
Options :

53622817389. 1
53622817390. 2
53622817391.3
53622817392. 4

Question Number : 73 Question Id : 5362284464 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
et amfer 4 vek vie afedsHT 3 @1E o = agE #1 St fawel (@) 2 whem w EaE we 2 |

PAIF HE | T (T F A1) | D OE (T ) | vy (S geEgH 9n)

T & HEl TWOR 76 3 23.33

e & e 122 16 7.62

TqT(F SATHFS] & A0 UF 1 OE F Em Y

(1) 76/122 (2) 3/16
(3) 23.33/7.62 (4) 7.62/23.33
Options :

53622817389. 1
53622817390. 2
53622817391. 3
53622817392. 4

Question Number : 74 Question Id : 5362284465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A teacher finds that the distribution of scores for a self made test 1s positively skewed. What
inference he/she should make about the difficulty level of this test?

(1) The test i1s difficult

(2) The test 1s easy

(3) The test 1s of moderate difficulty

(4) The test 1s moderately of low difficulty

Options :



53622817393. 1
53622817394.2
53622817395.3
53622817396. 4

Question Number : 74 Question Id : 5362284465 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U ST TR WAl 2 {3 uk - fida wfiem 2q ardaie & e @ e B9 8 vk S g
ek 2 | 38 uiten i feeredn wat o fowa 4 38+ fasd ek =mfae?

(1) ufee o e faee 2

(2) Y ] T A 2

(8)  uftzm neny fFop w w12

(4) e HeTn e fFTE WA 2
Options :
53622817393. 1
53622817394. 2

53622817395.3
53622817396. 4

Question Number : 75 Question Id : 5362284466 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A university teacher has conducted a survey of achievement of students in chemistry through
a self made test. The distrbution of scores has been studied in terms of mean and standard
deviation for a sample of 100 students. The results are as follows :

Mean = 50 Standard deviation = 10 and N = 100

Assuming that the distribution of scores 1s normal. what will be the Percentile Rank (PR) of a
student whose score 1s 607

(1) 70 2y 75
(3) 50 (4 84
Options :

53622817397. 1
53622817398. 2
53622817399. 3
53622817400. 4

Question Number : 75 Question Id : 5362284466 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U v TaeeTd & SeATTE & U wEiHa e % memn § @ 0 A i seefeadl s ade |
100 =1 % ufiesi % wreArER! & faaro w8 gemaE i wfes faaem 6 g 9 s G o) aiom
ey &

geduTE = 50 Tt = = 10 a1 |#Y2 &1 H5e = 100

afe o7 WA o s fo wrearani # faeen wmg @ @ o @ faae g 60 2 35 giasans st
(q0HZge 1) el

(1) 70 (2) 75
(3) 80 (49) 84
Options :

53622817397. 1
53622817398. 2
53622817399. 3
53622817400. 4

Question Number : 76 Question Id : 5362284467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The observation “What the curriculum neglects 1= as important as what it advocates for” 1s
related to which of the following types of currieulum?

(1) Overt Curriculum (2y Hidden Curriculum
(3) Core Curriculum (4) Null Curriculum
Options :

53622817401. 1
53622817402. 2
53622817403. 3
53622817404. 4

Question Number : 76 Question Id : 5362284467 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

gz 3fF T Cwraawn Tl saee = 2 98 3991 9 geal @ e T g Tomen wmela s 20
freferfiaa oragws 9 4 faa8 gafim 27

(1)  Weas g (2)  HUeHH TIETFY
(3) el ITEEEy (4) ¥ TTEEEY
Options :

53622817401. 1
53622817402. 2
53622817403. 3
53622817404. 4



Question Number : 77 Question Id : 5362284468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following approaches to Curriculum objectives provides scope for meeting the
self-actualization needs?

(1) Behavioural — Rational Approach
(2) Intellectual — Academic Approach
(3) Systems — Managerial Approach

(4) Humamistic — Aesthetic Approach
Options :
53622817405. 1
53622817406. 2
53622817407. 3
53622817408. 4

Question Number : 77 Question Id : 5362284468 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

qr3aFn 3evdl & Fafafad 3o O 6 w0 wm o s fafs ) smawma Fqn 0 ) afa e
eeniky

(1)  oaFer W aifde 3
@ i st
(3) = T Y HIeHE 3UTH

(4)  UHHE-HEE 39T
Options :
53622817405. 1
53622817406. 2
53622817407. 3
53622817408. 4

Question Number : 78 Question Id : 5362284469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The Congruence-Contingency Model of Curriculum evaluation was developed by

(1) Ralph Tyvler (Zy Malcolm Provus
(3) Hobert Stake (4) Daniel Stufflebean
Options :

53622817409. 1
53622817410. 2
53622817411. 3



53622817412. 4

Question Number : 78 Question Id : 5362284469 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I3 YerdTeha o1 Jus - e ufeur = fasra feass gr fran e en?

(1) T 215l (2) HeFE gEA
(3)  Tad = (4) Eire e
Options :

53622817409. 1
53622817410. 2
53622817411. 3
53622817412. 4

Question Number : 79 Question Id : 5362284470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following dimensions of curriculum design focuses on interrelatedness of various
aspects of curriculum?

(I Scope (2} Seguence
(3) Articulation (4) Continuity
Options :

53622817413. 1
53622817414. 2
53622817415.3
53622817416. 4

Question Number : 79 Question Id : 5362284470 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

UI3aEn AiuFeq & FreafaiEa smad 0 9 9w srEm geaed F A wwds F wen agd 7 en
FHzd s a?

(1) & (2) FAIFH
(3) Il (4) T
Options :

53622817413 1
53622817414. 2
53622817415.3
53622817416. 4

Question Number : 80 Question Id : 5362284471 Question Type : MCQ Option Shuffling : No Is Question



Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Empathetic understanding of the client’s problem 1s stressed in which type of counselling?

(1) Rational-problem analysis based counselling

(2) Person-centred humamnistic approach dominated counselling
{3) Reality based directive counselling

(4) Behaviouristic — modification based counselling

Options :

53622817417. 1

53622817418. 2

53622817419. 3
53622817420. 4

Question Number : 80 Question Id : 5362284471 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Syl o fohs webn O Handf ) guwy & deayfas saey @ ae fear s 2

(1)  efehep-gwe favergor smeanfoa srms

(2)  Efaq-higa g o stfiare wms
(3)  =wd-zmenim FemTenE Tom

(4)  THIENTEHE-ATIIEA HATHTRE Ty

Options :

53622817417. 1
53622817418. 2
53622817419. 3
53622817420. 4

Question Number : 81 Question Id : 5362284472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A student has graduated from a university. He/She wants help in making the choice of stream
of education. The type of guidance to be put in place for such a case will be called

(1) Perszonal guidance (2) Educational guidance
(3) Vocational guidance (4) Social guidance
Options :

53622817421. 1
53622817422. 2
53622817423. 3
53622817424. 4

Question Number : 81 Question Id : 5362284472 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

ve faentl fmsfl Tavafaemem 3 wawrdl 2| a7 e &1 fee am & f@6es &1 94, 38 a1 9 "=l
9T STEAT & | 39 WE % OTHe # fem s aven fevm s wEem 27

(1) =afErmE FHee () Sifers févm
(3)  =grEmETEE e (4) =maTtEE fadem
Options :

53622817421. 1
53622817422.2
53622817423. 3
53622817424. 4

Question Number : 82 Question Id : 5362284473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Who among the following behaviorist theorists of learning advocated the role of cognitive and
molar concepts?

(1) C.L. Hull (2) E.L. Thorndike
(3) E.C. Tolman (4y J.B. Watson
Options :

53622817425. 1
53622817426. 2
53622817427. 3
53622817428. 4

Question Number : 82 Question Id : 5362284473 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

sHTeT % sageErars) e & giaares 0 9 s g sin gaiie saanst # geds B 2

()  Hi.ud. (2) 3.ue. dHEEF
(3) .. Zferls (4) . greE
Options :

53622817425 1
53622817426. 2
53622817427. 3
53622817428. 4

Question Number : 83 Question Id : 5362284474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The techniques in respect of human learning context’ advocated by Carl Rogers were given
the caption

(1) Self-regulated learning (2) Reception learning
(3 Self-initiated learming (4) Discovery learming
Options :

53622817429. 1
53622817430. 2
53622817431.3
53622817432. 4

Question Number : 83 Question Id : 5362284474 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘e sAfenTg wewd ' o W W el T g ufdartEa fateen = e vides e e oan?

(1)  =A-#ged #iom @) e s
@ - S (&) s s
Options :

53622817429. 1
53622817430. 2
53622817431. 3
53622817432. 4

Question Number : 84 Question Id : 5362284475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Developing brand and enhancing marketing 1s emphasized by

(1) Theory of System Analysis
(2) Signal Theory
(3) Theory of Rational Choice

(4) Human Capital Theorv
Options :
53622817433. 1
53622817434.2
53622817435.3
53622817436. 4

Question Number : 84 Question Id : 5362284475 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T2 Taesya #vd SR fagvm =1 sere w Fefetaa 9 3 e g s i mn 27
(1)  worrefl fager g

(2) 4 g

(3) il wae w fagtd

(4)  \HE O A
Options :
53622817433 1
53622817434. 2
53622817435. 3
53622817436. 4

Question Number : 85 Question Id : 5362284476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The essential components of a budget are

(1) Building and Infrastructure (2) Income and Expenditure
(3) Policy and Programmes (4) Fees and Salary
Options :

53622817437. 1
53622817438. 2
53622817439. 3
53622817440. 4

Question Number : 85 Question Id : 5362284476 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

o] ot % A T Ea 8

(1)  9&d 3R SEaEE (2) HTE 3HN =0
(3)  ifd 3w ey (4) Y7 AR AT
Options :

53622817437. 1
53622817438. 2
53622817439. 3
53622817440. 4

Question Number : 86 Question Id : 5362284477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The right to free and compulsory education at primary education level is ensured by the
constitution of India through

(1) Article 45 of directive principles (2) Article 21 B. 2002
(3) Article 21 A, 2009 (4) Article 21 A, 2002
Options :

53622817441. 1
53622817442.2
53622817443. 3
53622817444. 4

Question Number : 86 Question Id : 5362284477 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

s foren & ¥ W A s sfHaEr Wen @ i v dEae gm Fetaiaa 9 9w s
gf-fo=a o man 27

(1) ifa-FEwe fagr = sq=as 45 (2) ==sE 2140, 2002
(3)  sig=wa 21T, 2009 (4) w=wE 211, 2002
Options :

53622817441. 1
53622817442.2
53622817443. 3
53622817444. 4

Question Number : 87 Question Id : 5362284478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Establishment of DIETs was a result of one of the recommendations of

(1) Fducation Commission — 1966

(2) University Edueation Commission 1948-49
(3) Secondary Education Commission 1952-53
(4) National Policy of Education 1986

Options :

53622817445. 1

53622817446. 2

53622817447. 3
53622817448. 4

Question Number : 87 Question Id : 5362284478 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Frafafigs o 9 fawd fawfoe & ofomesss 2@e (DIET) & w2 & 7 7

(1) Tor=m s — 1966
(2)  Tavatammerg foem s 1948-49
(3)  wyegfaes forem =M 1952-53
(4) Ty e fifs 1086

Options :

53622817445. 1

53622817446. 2

53622817447. 3
53622817448. 4

Question Number : 88 Question Id : 5362284479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

The recommendation to reduce the burden of school bags was given by

(1) Yashpal Committee (2) National Commission for Women
(3) Ramamurti Committee (4) National Education Policy 1986
Options :

53622817449. 1
53622817450. 2
53622817451. 3
53622817452. 4

Question Number : 88 Question Id : 5362284479 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TFel o FEd o e F1 F9 = i o feen o

(1)  ==r9r |k (2)  TTETg AiEe ATEm
(3)  wmfd wiufd (4) e e it - 1986
Options :

53622817449. 1
53622817450. 2
53622817451. 3
53622817452. 4

Question Number : 89 Question Id : 5362284480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Who among the following contributed the book entitled “Savitm : A Legend and a Symbol™?

(1) Mahatma Gandhi (2) Sawitribai Phule
(3) Sr1 Aurobindo (4) Bwami Vivekananda
Options :

53622817453. 1
53622817454. 2
53622817455. 3
53622817456. 4

Question Number : 89 Question Id : 5362284480 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fferfiaa 4 A A v elieE vg fEe e o oidsh B 7

(1) =t (2) arfadi = gl
(3) i wwfer (@) vl fwE=
Options :

53622817453 1
53622817454. 2
53622817455. 3
53622817456. 4

Question Number : 90 Question Id : 5362284481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In Sankhya Philosophy. ‘Evolution’ 1s considered to be a

(1) Teleological Process (2) Linear Process
(3) Mechamieal Process (4) Novel Change
Options :

53622817457. 1
53622817458. 2
53622817459. 3
53622817460. 4

Question Number : 90 Question Id : 5362284481 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

i g3t H el S S O

(1)  wErsHYer i (2) T i
(3) it ufEn (4) siya vitadq
Options :

53622817457. 1
53622817458. 2



53622817459. 3
53622817460. 4

Question Number : 91 Question Id : 5362284482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Which school of Western Philosophy endorses the following metaphysical assertion?
“Since the umverse exists independent of us and 1s governed by laws over which we have hittle

control, it 1s necessary to know certain definite things about this universe in order to adopt to
it”

(1) Idealism (2) Pragmatism
(3) Existentialism (4) Realism
Options :

53622817461. 1
53622817462.2
53622817463. 3
53622817464. 4

Question Number : 91 Question Id : 5362284482 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
el 9 w1 A - Ery et dedirarens sfeasftd @ amels w5 27

“Hfer Tava = wiferes gAY A S 98 v i g wnfa B 2 R ow s e w6 2 ) gafem gee
ST 94 o Toru fova = 9 o widTg sravaard] T #1 94 o SawEE e

(1) EELEIE (2) YA NEEE |G
(8)  #Afedeaans (4) Feedfae
Options :

53622817461. 1
53622817462.2
53622817463. 3
53622817464. 4

Question Number : 92 Question Id : 5362284483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



According to NCF (2005), the sahent guiding principles of curriculum development include

(a) connecting knowledge to life outside the school
(b) ensuring that the learning shifts away from rote methods
(c) enriching curriculum beyond textbooks

(d) interfacing with medical model of disability

(e) focusing on the dominant culture

Choose the most appropriate answer from the options given below :

(1) (d). (a) and (c) only
(2) (e). (b) and (a) only
(3) (c). (b) and (e) only

(4) (a). (b) and (c) only

Options :

53622817465. 1
53622817466. 2
53622817467. 3
53622817468. 4

Question Number : 92 Question Id : 5362284483 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



U ) U (2005) % HFEW WAFEA T % age aniseis ferdl 4 wite 27
(a)  Torermera & =rer & Sffaq & e sz

) sl @ &t stem e s gfafea =

(c)  TIBATEAHI {0 o S JI3EE il HYE T ]

(d)  TesanmEr o Taished T ofdqam o |19 SRR

(e)  uea il HEld W =14 iz Fa

Feafra fasea] § 4wl 7 =4

(1)  #Ed (d), (@) 3 (c)
(2) 44 (e). (b) N (a)
(3)  #ad (c). (b) H (e)

(4)  F4F (a). (b) 3N ()
Options :
53622817465. 1
53622817466. 2
53622817467. 3
53622817468. 4

Question Number : 93 Question Id : 5362284484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following conditions of disabilities have been identified according to the Persons
with Disability Act 1995

(a) Blindness and Low Vision

(b) Hearmng Impairment

(c) Mental Retardation and Mental Illness
(d) Autism Spectrum Disorder

(e) Specific Learning Disabilities

Choose the most appropriate answer from the options given below :

(1) (e). (d) and (b) only
(2) (d). (a) and (e) only
(3)  (a), (b) and (c) only

(4) (e). (c) and (b) only
Options :

53622817469. 1

53622817470. 2
53622817471.3

53622817472. 4

Question Number : 93 Question Id : 5362284484 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 3r safid st sty 1995 o srpaw v =) Feferfaa gnsdi 1 st f mn e
(a) gl %R e gfe

(b)  HF T

(€) e deen iy wEfas =i

(d)  *Eefl=d Sy GEn

(e)  Tafure sifermy s

TR Taahed| H | A 3 9
(1) Fad (e), (d) 1 (b)
2 Fae (d), (a) H (e)
(3) Fad (a), (b) 317 (c)

(4)  Fad (e), (c) 31 (b)

Options :

53622817469. 1
53622817470. 2
53622817471.3
53622817472. 4

Question Number : 94 Question Id : 5362284485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Creative common licensing allows the users to

(a) Use the Educational Context
(b) Remix the Educational Content
(c) Remember the Educational Content

(d) Redistribute the Educational content

Choose the most appropriate answer from the options given below :

(1) (a). {c) and (d) only
(2) (c). (d) and (a) only
(3)  (a). (b) and (d) only

(4) (b). (c) and (d) only

Options :

53622817473. 1
53622817474. 2
53622817475.3
53622817476. 4

Question Number : 94 Question Id : 5362284485 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
lF. ﬁ - --ﬁ-.-.ll_[I ‘- T%"If. ﬁ'_lhﬁ%;
(a)  Siers ey &1 I0F FHET
(b)  Hferss fawmasg = e

(c)  diferes faoresg =t =g #o
(d) e faweasg @1 qRfEE
foreifepa fomredi @ & w1t 370 =4
(1)  =ad (a), (¢) 3 (d)
(2)  FEFE (c). (d) 3T (a)

(3)  *Had (a), (b) 3 (d)

(4) a4 (b)), (c) 3T (d)



Options :

53622817473. 1
53622817474. 2
53622817475. 3
53622817476. 4

Question Number : 95 Question Id : 5362284486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements exemplify the characteristic features of Linear-Programmed

style of Instructional Technologv?

(a) Small step presentation

(b} Treatment of errors to promote understanding
() Active responding

(d) Demonstrate. prompt and release

(e Immediacy of feedback

Choose the most appropriate answer from the options given below :

(1) {a). (b) and (c) only
(2) {a). (b) and (e) only
(3) (a). (e) and (e) only

(4) (b). (d) and (e) only

Options :

53622817477. 1
53622817478. 2
53622817479. 3
53622817480. 4

Question Number : 95 Question Id : 5362284486 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TAire F2AT 3 © G B S50 aFArh i adE s el 6 sAienaies S w1 sgEm
G A9 7 7

(a) G WA A

(b) =AY H AEH F AU IR = IR

ic) i aﬁﬁﬁﬂ

(d)  TEIF, TeETEA 3

(e)  TiglE =i ARl

AT el 3 |/ Hal 300 =4

(1)  Fae (a). (b) 317 (¢)
(2) == (a). (b) 37 (e)
(3) = (a). (c) 37 (e)
(4) A= (h). (d) 3 (e)

Options :

53622817477. 1
53622817478. 2
53622817479. 3
53622817480. 4

Question Number : 96 Question Id : 5362284487 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The 1implications of constructivist theory for Instructional design 1s reflected through which of

the statements given below ?

(a)
(b)

(c)

(d)

(e)

Instructional design should be specific and learning cutcome related

Instructional design should promote participatory approaches leading to creation of
meaning gIving processes.

Instructional designs should be specific so that learning outcomes are measured
accurately

Instructional designs should provide scope for challening learning contexts and
proactive moves

Instructional designs promote cognitive rather than meta-cognitive process

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)

(4)
Options :

(a) and (b) only
(b) and (d) only
(c) and (d) only
(d) and (a) only

53622817481. 1
53622817482. 2
53622817483. 3
53622817484. 4

Question

Number : 96 Question Id : 5362284487 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



f=fera oAl 4 | T memy | sA9eve sfusen & foro wemmard fagr & wara afeia 2 27

(a) YR sfvewes & fafoe e gfomm gt g =mee |

(b)  EIE Afisen 314 &7 arer ufwa w1 ant gerea w0 are gefrerd sei w5 g A
(c)  HewR sifuswen =i fafre g =rfae arfs e afomEt = w58 9 T 7

(dy  3FeyR sifawed w1 sl ST g smesd Fedl o fau A 29 o o am wem e =ra |
(e)  IevH ey F1 WIS UiwaT 1 SUa BHATHE THHAT F Feran 91 9l |
fifera fasedl 4 & w8 3 94

(1) I (a) 317 (b)

(2) & (b) 3R (d)

(3) %A (o) AN (d)

(4) e () 3 (a)

Options :

53622817481. 1
53622817482.2
53622817483. 3
53622817484. 4

Question Number : 97 Question Id : 5362284488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following are the types of Mobile Apphication?

(a) Native
(b) Mobile Web
(c) Hybrd

(d) Immigrants

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (d) only
(2) (a). (b) and (c) only
(3) (a). (¢) and (d) only

(4) (b), (c) and (d) only
Options :



53622817485. 1
53622817486. 2
53622817487. 3
53622817488. 4

Question Number : 97 Question Id : 5362284488 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
feferfiaa # & =17 | dEmEe vfierhieE #1 9HR 27
(a) A4
(b)  HIEEE A4
()  =nEfae

(d iy

Freifera fearsredl o & w397 o4
() 4 (a). (b) 31 (d)

(2)  #Ad (a). (b) 3 (c)

(3) @A (a). (c) 1 (d)

(4)  FaH (b), () 3 (d)

Options :

53622817485. 1
53622817486. 2
53622817487. 3
53622817488. 4

Question Number : 98 Question Id : 5362284489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following have been identified as performance indicators for assessment and

accreditation of institution by NAAC?

(a) Curricular aspects

(b) Research. Innovations and Extension

(c) Governance. Leadership and Management

(d) Election of students union members and their interest
(e) Institutional values and best practices

Choose the most appropriate answer from the options given below :

(1) (b). (c). (d) and (e) only
(2) (a). (b). (d) and (e) only
(3) (a). (c). (d) and (e) only

(4) (a). (b). (c) and (e) only

Options :

53622817489. 1
53622817490. 2
53622817491. 3
53622817492. 4

Question Number : 98 Question Id : 5362284489 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TFr=ifera # # Tord Yoo Ue e B 9 (U T U ) g feres deee o s i stfow i e e 2
(a)  TIITFH F AW

(b)  ¥IY, FETHR A1 FHA

(¢) I, fed o1 UaleH

(dy @AY & HEE F G a1 T =i

(e)  HEYWA Yrd Ud IehE Heleld

e fermreai o 3 w1l 3a 94

1 F=d ®), (@), (@) 3 ()

@ 4 @), (b). (d) 3 (e)

(3) A€ (@), (0). (@) 3N (e)

(4) &= (a), (b). (c) 3N (e)

Options :

53622817489. 1
53622817490. 2
53622817491. 3
53622817492. 4

Question Number : 99 Question Id : 5362284490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For describing teaching as a profession. which of the following statements are most

appropriate?

(a) Long or short duration of traiming has effect on making teaching skill repertoire

representative
(h) A well defined performance standard facilitates professional acquisition
(c) Teaching means an activity aimed at influencing others

(d) An orgamsed body of knowledge brings sophistication in a profession

(e) Teaching and learning are like selling-buyving transactions

Choose the most appropriate answer from the options given below :

(1) (a). (d) and (e) only
(2) (a). (b) and (c) only
(3)  (d). (c) and (e) only
(4) (a). (b) and (d) only

Options :

53622817493. 1
53622817494. 2
53622817495. 3
53622817496. 4

Question Number : 99 Question Id : 5362284490 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a)  wigier S @ o srata A foemn S i ) 9 S O 9eTE T2 |
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(¢)  Tovemor o1 w3 gl o) Wi o T eAfed ey 2 |

(d) 3 ve sEfEm e R S Y i e |
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(1)  F44 (a). (d) 31 (e)
(2) %4 (a). (b) 30 (c)
(3) = (d). (c) 3 (e)

(4)  Fad (a). (b) 3N (d)

Options :

53622817493. 1
53622817494. 2
53622817495. 3
53622817496. 4

Question Number : 100 Question Id : 5362284491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are presage related criteria for teacher evaluation?

(a) Teacher's personality pattern and motivational disposition

(b) Teacher’s method of providing feedback and follow up action during instruction
(c) Extent of learning and motivation ensured by the teacher while teaching

(d) Social competence and self-esteem of a teacher

(e) Management and mentoring technique employed by the teacher

Choose the most appropriate answer from the options given below :

(1) (a) and (d) only
(2) (b) and (c) only
(3) (d) and (e) only

(4) (c) and (a) only
Options :
53622817497. 1
53622817498. 2
53622817499. 3
53622817500. 4

Question Number : 100 Question Id : 5362284491 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Freferfaa 0 3 4 Mam gear=a = fou gHadl 96g gHaza?

(a)  Tovere o =afaea =1 wpey 3w sfquonene g

(b)  FHEYM o SFH Wiyl &4 o gl fen wad frares g s 8 gafd
(¢)  Toreao = sy foeren g gifvea fro e sifiom i st 1 g

(d)  Toress i gt wwed s e

(e)  Torems g wgad waiee 3R Hgmam wiEi

Freifira e i 1w s -

(1)  %ad (a) 3 (d)
(2)  Fad (b) HH (o)
(3)  Fad (d) 7 (e)

fAN AR (o) AT
Options :
53622817497. 1
53622817498. 2
53622817499. 3
53622817500. 4

Question Number : 101 Question Id : 5362284492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following programmes are related to gquality improvement in in-service
education?

(a) Foundation course in teacher education

(h) Skill development programimes

(c) Courses on pedagogy 1n specific subjects

(d) Induction training

(e) Micro simulation for competency development

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (b). (d) and (e) only

(4) (c). (d) and (e) only
Options :
53622817501. 1
53622817502. 2
53622817503. 3
53622817504. 4

Question Number : 101 Question Id : 5362284492 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(a)  SrEATOEF Toien 4 SRy w3EEy

(b) I faFR FraFEy
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(dy  ufafs gfEem

(e)  weIvr Taerm 2 e FgEI
e faseal 4 4 ol 37 94 -

()  %Fad (a). (b) 31 (c)

(2 4 (), (0 3 ()

(3) %I (b). (d) H (e)

(4  F (). (d) 3N (e)
Options :

53622817501. 1
53622817502. 2
53622817503. 3
53622817504. 4

Question Number : 102 Question Id : 5362284493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods are probability bazed?

(a) Cluster sampling

(b) Quota sampling

(c) Systematic sampling
(d) Dimensional sampling

(e) Stratified sampling

Choose the most appropriate answer from the options given below :

(1) (b). (c) and (d) only
(2) (a). (c) and (e) only
(3) (a). (d) and (e) only
(4) (c). (d) and (e) only

Options :

53622817505. 1
53622817506. 2
53622817507. 3
53622817508. 4

Question Number : 102 Question Id : 5362284493 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(b) ST e aidea
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(1)  #ad (b), (e) 3 (d)
(2) 44 (a), (c) # (e)
(3) A (a), (@) I (e)

(4  FFE (). (d) N ()
Options :
53622817505. 1
53622817506. 2
53622817507. 3
53622817508. 4

Question Number : 103 Question Id : 5362284494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify from the hst of characterstics given below those which are related to a good
hvpothesis 1n a research :

(a) Simplicity of explanation

(h) Plausibihity of explanation

(c) Highly difficult to verify the postulated relations

(d) Not related to an existing theory

(e) Relationship formulated among variables having conceptual clarity

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (c). (d) and (e) only
(4) {a), (b) and (e) only

Options :

53622817509. 1
53622817510. 2
53622817511.3
53622817512. 4

Question Number : 103 Question Id : 5362284494 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fmaferfian a=l § § 39 favransii #1 fafea %1 o 99 4 v e TiEeT @ Halaa 3

(a)  =ATEAT I HESAl

(by =TT I HETIA
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(d  Teremm fogra o Hafum 94

(e) =l H wfduriga wea=s =i HEEITeES T

fereifera fampedi § & @8 3 =4 -

(1)  %a# (a), (b) 3 (c)

(@) wFE (), (e) 3 (@)

(3) a4 (e), (d) I (e)

(4) I (a). (b) AN (e)

Options :

53622817509. 1
53622817510. 2
53622817511.3
53622817512. 4

Question Number : 104 Question Id : 5362284495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following iz the correct order of human needs as formulated in Maslow's

hierarchy of needs?

(a) Safety needs

(b) Love and belonging needs

() Physiological needs
(d) Self-actualization needs
(e) Esteem needs

Choose the most appropriate answer from the options given below :

(1) (c). (a). (b), (¢) and (d) only
(2) (a). (c). (b). (d) and (e) only
(3) (b). (a), (c). (d) and (e) only

(4) (c). (b). (a). (e) and (d) only
Options :
53622817513. 1
53622817514. 2
53622817515.3
53622817516. 4

Question Number : 104 Question Id : 5362284495 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) &4 (c). (a), (b). (e) 3 (d)
(2 %44 (a). (c), (b). (d) H (e)

(3)  Fad (b), (a). (¢). (d) 3 ()

i\ FAF (A (hY (a) (a) 310 (A
Options :
53622817513. 1
53622817514. 2
53622817515.3
53622817516. 4

Question Number : 105 Question Id : 5362284496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which 1s the correct sequence of tasks involved in the development of curriculum?

(a) Formulating goals and objectives

(b) Assessing needs

(c) Selecting appropriate instructional strategies

(d) Selecting and organising content

(e) Evaluating effectiveness of learning and instruction

Choose the most appropriate answer from the options given below :

(1) (a). (b), (d). (c) and (e) only
(2) (b). (a). (d). (¢) and (e) only
(3) (b). (a), (c). (d) and (e} only
(4) (a). (c). (b). (d) and (e) only

Options :

53622817517. 1
53622817518. 2
53622817519.3
53622817520. 4

Question Number : 105 Question Id : 5362284496 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) @& (a). (b), (d). (c) 1 (e)
(2) a9 (b). (a). (d). (c) 31 (e)

(3) 44 (b), (a). (), (d) M (e)

(4)  FF9 (a). (©). (b). (d) 3N (&)

Options :

53622817517. 1
53622817518. 2
53622817519. 3
53622817520. 4

Question Number : 106 Question Id : 5362284497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In the statements given below., identify those which are related to competency-bazed
curriculum design?

(a) The abilities and learning styles of individuals get a support

(b) Individuals memory based knowledge 1s stressed

(e) Individuals are helped to achieve their potential

(d) Domain specific proficiency of individuals 1s focused

(e) Curriculum gets designed with an 1dealist perspective

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (b). (d) and (e) only
(3) (a). (c) and (d) only
(4) (d). (e) and (a) only

Options :

53622817521. 1
53622817522. 2
53622817523.3
53622817524. 4

Question Number : 106 Question Id : 5362284497 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817521. 1
53622817522.2
53622817523.3
53622817524. 4

Question Number : 107 Question Id : 5362284498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For traiming in behaviour modification using Skinner's operant conditioning model 1n which of
the following types of procedures. negative reinforcement 1z made contingent on making or

with holding of a response in the presence or absence of cues?

(a)
(b)
(e)
(d)
(e)

Reward learning

Escape learning
Punishment learning
Active avoidance learning

Discriminated operant learning

Choose the most appropriate answer from the options given below :

(1)
(2)
(3)
(4)

(a). (b) and (c) only
(b). (d) and (e) only
(c). (d) and (e) only
(b). (¢) and (d) only

Options :

53622817525 1
53622817526. 2
53622817527. 3
53622817528. 4

Question Number : 107 Question Id : 5362284498 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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@)  %Fad (b), (c) I (d)

Options :

536228175251
53622817526. 2
53622817527.3
53622817528. 4

Question Number : 108 Question Id : 5362284499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements describe the major puroses of mental hygiene?

(a) Prevention of mental disorders

(b) Preszervation of the mental health of the individual and the group

(c) Satisfaction of security and esteem needs of a person
(d) Discovery and utilization of therapeutic measures to cure mental 1llness
(e) Promoting between interpersonal relationship in a group

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (c) only
(2) (a). (b) and (d) only
(3) (b). (c) and (d) only

(4) (c). (d) and (e) only

Options :

53622817529. 1
53622817530. 2
53622817531. 3
53622817532. 4

Question Number : 108 Question Id : 5362284499 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(1) === (a). (b) 3 (¢)
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(3) a4 (b), (c) #W (d)
(4)  FFE (c). (d) HK (e)

Options :

53622817529. 1
53622817530. 2
53622817531.3
53622817532. 4

Question Number : 109 Question Id : 5362284500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following shifts have been suggested by NCF-2005 for teachers?

(a) Knowledge disbursed to knowledge owned

() Disciplinary to multidisciplinary focus

(c) Learners autonomy to teacher directions
(d) Teacher centric to learner centric designs
(e) From four walls of classrocoms to surroundings and outside the classroom

Choose the most appropriate answer from the options given below :

(1) (a). (b) and (e) only
(2) (b). (d) and (e) only
(3) (b). (a) and (c) only
(4) (d). (e) and (a) only

Options :

53622817533. 1
53622817534. 2
53622817535.3
53622817536. 4

Question Number : 109 Question Id : 5362284500 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817533. 1
53622817534.2
53622817535. 3
53622817536. 4

Question Number : 110 Question Id : 5362284501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The concepts of education which will be aszented to by Vedant Philosophy are

(a) Awakening of intelligence with all the three G's — IQ. EQ. and 3§
(b) Vocationalization of education

(c) Inclusive education

(d) Reptilian leadership model

(e) Education for all

Choose the most appropriate answer from the options given helow

(1) {a). (b) and (¢) only
(2) (b). lc) and (d) only
(3) (c). (d) and (e) only
(4) (a). (¢} and (e) only

Options :

53622817537. 1
53622817538.2
53622817539. 3
53622817540. 4

Question Number : 110 Question Id : 5362284501 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(4) A= (a). (c) #F (e)

Options :

53622817537. 1
53622817538. 2
53622817539. 3
53622817540. 4

Question Number : 111 Question Id : 5362284502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Savitribai Phule 1s known for her contribution in which of the following listed areas?

(a) Peace Education

(b) Art education

(c) Education of the scheduled castes
(d) Women education

(e) Child care education

Choose the most appropriate answer from the options given below:

(1) a and d only
(2) b and c only
(3 a and c only

(4) ¢ and d only
Options :
53622817541. 1
53622817542.2
53622817543. 3
53622817544. 4

Question Number : 111 Question Id : 5362284502 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HTT e Fed 1 1= o1 Hefl o st=nid FH -4 a1 4 396 AFEE o fofu S e 27
(a) i fren

(b) e foren

(c)  siafaa snfadi 1 faen

(d)  dfzenst £t foen

(e)  ®Tel SrEuTe THreq]

frerifera fspeal © & | 378 94 -

(1) Fad (a) 37 (d)
(2) Fa (b) 317 (c)
(3)  ad (a) 3N (0)

(4)  FF (c) F ()

Options :

53622817541. 1
53622817542. 2
53622817543.3
53622817544. 4

Question Number : 112 Question Id : 5362284503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify from the following list those factors that help in social mobility

(a) Education
() Caste
(c) Income

(d) Occupation

(e) Religion

Choose the most appropriate answer from the options given below:

(1) a. b and e only
(2) c.d.and e only
(3 a.cand e only

(4) a, c and d only

Options :

536228175451
53622817546. 2
53622817547. 3
53622817548. 4

Question Number : 112 Question Id : 5362284503 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fepeqiferal =it 4 6 39 a1 il TEE S Ao Wi 8 FETEa #d 87

(a)  Toen
(b)
()  HAM
(d) =F=FE
(e) 1%

Freiferd fasredi 0 39 3o gH
(1) == (a). (b) 31 (e)
(2)  Fa (c). (d) 3 ()
(3)  F4d (@), (o) 3V ()

(4)  Fa4 (a), () #W ()

Options :

53622817545. 1
53622817546. 2
53622817547.3
53622817548. 4

Question Number : 113 Question Id : 5362284504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the disability in List I with its description in hist IT

List I Last II
Disability Description

(a) Dyspraxia (1)  Difficulty 1n paying attention and
action without knowing consequences

(h) Dyzlexia (11) Dafficulty in development of hteracy
and language related skills

{cy ADHD (1) Dafficulty 1n writing associated with
usage of wrong word during
communication

(d) Dysgraphia (1v) Difficulty in motor coordination
resulting 1m poor or out of order
movements

Choose the correct answer from the options given below :

(1) (a)-(1), (b)-(111). (€)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(3) (a)-(1v). (b)-(1). (e)-(12). (d)-(111)
(4) {a)-(1v). (b)-(11). (c)-(1). (d)-(111)

Options :

53622817549. 1
53622817550. 2
53622817551. 3
53622817552. 4

Question Number : 113 Question Id : 5362284504 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl T8 51 72 fozamman =1 g [ § 3a% T 5 f5em =1

Tt 1
(T
(a) TeouteEm

(c) USUEED
(dy ==

FefefEa O 9 T8 35 T

(1) (a)-(1). (b)-(11). (e)-(1v). (d)-(11)
(2) (a)-(111). (b)-(1). {c)-(11). (d)-(1v)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) {a)-(1v), (b)-(11). (e)-(1). (d)-(1a1)

Options :

53622817549. 1
53622817550. 2
53622817551. 3
53622817552. 4

(1)

(11)

(111)

(1v)

= 1T

(Teremn)
S o4 H wieTs ¥ afomy = e e e
oAl R g mEdt #wee & fawwm
o
YU # A Ye5 F TAF F A1 AL e
ﬁ"al‘j:l:
Ta® AH=EA H OFEAE TFEE I @

Question Number : 114 Question Id : 5362284505 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List I embodies situational leadership styvle and List II indicates the power resource which
supports them.

List I #* Last IT
Situational leadership style Power resource
(a) Directive stvle (HT/LR) (1)  Expert power
(b) Supportive style (HT/HR) (11) Information power
(¢) Participative styvle (LT/HR) (1) Reward power
(d) Delegating stvle (LT/LR) (itv) Coercive power
* HT = High Task HR = High Relationship
LT =Low Task LR = Low Relationship

Choose the correct answer from the options given below :

(1) {(a)-(1). (b)-(m). (e)-(1v). (d)-(111)
{(2) {a)-(111). (b)-(1v). ()-(1). (d)-(11)
(3) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)

Options :

53622817553. 1

53622817554. 2

53622817555. 3
53622817556. 4

Question Number : 114 Question Id : 5362284505 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



wefl Toh1 | 118 & g &) - g 1o wifeafam 990 stefl aen gt 114 391 |udq varft o
HEYA ] 3761 2 |

e T T 11
(fefefa Fqea) (wareft wifed wHIEA)
(a) THewmems 9= (HT/LR) 1) Taoms-wfem
(b) HHGAWETH I (HT/HR) (i) HEAI-uIfea
(c) WiaWrTREE el (LT/HR) (i) TEHE ggrEl -
(d) wiafaEErE 9= (LT/LR) (iv) SR -1
* HT = (359 %714) HR = (3= Ha4)
LT = (Fewaita =) LR = (foeafa gae)
fr=ferfiga 0 5 w8 3@ =4

(1) (a)-(1). (b)-(11), (c)-(1v), (d)-(111)
(2)  (a)-(iD). (b)-(1v). (¢)-(1). (d)-(11)
(3) (a)-(1v), (b)-(111). (c)-(11). (d)-(2)
(4) (a)-(11). (b)-(1), (e)-(v). (d)-(111)

Options :

53622817553. 1
53622817554. 2
53622817555.3
53622817556. 4

Question Number : 115 Question Id : 5362284506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I presents names of orgamizations and List IT 1s about their functions.

(a)

(b)

(c)

(d)

Last I

Organization

UuGo

NAAC

CABE

NCTE

List IT
Function

To formulate new policy and
programmes of education

To maintain and regulate standards of
higher education

To regulate standards of the
institutions of teacher education

To give accreditation to institutions of
higher learning

Choose the correct answer from the options given below:

(1)
(2)
(3)

(4)
Options :

(a)-(iv). (b)-(i1). (c)-(iii). (d)-(1)
(a)-(111). (b)-(1). (¢)-(av), (d)-(11)
(a)-(1). (b)-(). (e)-(2). (d)-(1)
(a)-(11), (b)-(i1). (¢)-(1), (d)-(v)

53622817557. 1
53622817558. 2
53622817559. 3
53622817560. 4

Question Number : 115 Question Id : 5362284506 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



w1 1o = I8 faerm = | 9= D8 w1 a9 9= L0 39 Rt &1 faam 2

a4l 1 =l 11
Eiuce) (srdeh)
(a) il ()  Foven < 3g Hifa 9 39 FRiEy S FE
(b) TUAUUH] (i) F=aat e = 2] F19eE 9 399 G
(¢) Hiusis (iii) Frar foran Geam] & i o1 fafee
(d vwAHAE (iv) Fedal HEE- HEE] o Yo YEH
Freyfeafiaa o9 wdl 3o =4

(1) (a)-v). (b)-(n). (c)-(111). (d)-(1)
(2) (a)-(1m1), (b)-(1), (e)-(1v), (d)-(11)
(3)  (a)-(). (b)-(1v). (c)-(1). (d)-(1m1)
4) (-, (b)-(11), (c)-(1), (d)-(Qv)
Options :

53622817557. 1

53622817558. 2

53622817559. 3
53622817560. 4

Question Number : 116 Question Id : 5362284507 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I gives levels of teaching and List II provides teacher learner activities.

LastI
Levels of Teaching

(a) Autonomous Development Level (1)

(b) Memory Level (11)
(¢) Understanding Level (111)
(d) Reflective Level (1v)

List IT
Activities
Problem raising and problem solving

by teachers and studentz 1n a
participatory mode

Feeling of autonomy with hittle or no
scope for teacher intervention - a kind
of negative education

Emphasis on positive and negative
examples with a view to promote
concept attainment

Clear and systematic presentation of
facts and their description with an eve
on correct retention

Choose the correct answer from the options given below:

(1) (a)-). (b)-G). (e)-av), (d)-(1)
(2)  (a)-Gv). (b)-(i1). (c¢)-(i). (d)-()
(3)  (@-1). (b)-(1), (e)-(i11), (d)-(v)
4 (a)-(11). (b)-(v). (c)-(111), (d)-(1)

Options :

53622817561. 1

53622817562. 2

53622817563. 3

53622817564. 4

Question Number : 116 Question Id : 5362284507 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Ht 19 e o = fou o @ oft 5= 110 e sifusamendl frarserm fau oo 2| g0 161 9=t €

Hl 11| HHfed S |
Tl 1

(a) wErad fawmE

(b Hfa &R
(c)  3TFEr Fal
(d) Tamsiy
= fen v famwed ¥ # W& 3w gl

(1) (a)-(111). (b)-(1). (c)-(v). (d)-(11)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(1), (b)-(11), (c)-(111). (d)-(1v)
(4) (a)-(11). (b)-(1v), (c)-(111). (d)-(1)
Options :

53622817561. 1

53622817562. 2

53622817563. 3
53622817564. 4

(11)

(111)

(1v)

g 11

afasrrrs &9 0 e vl feenf gz
TOE] ) IZMET T HEE] ] GEAE HE]
THR b FEAET F Fl R A -
w1 e e

Hoge gy ) dreifEd e Hogie 8
HFATE e FHIFHF TSN T a9
TE ¥ 1 YRy 7 A2 6 T Ug srafedd
wEAfd AU I ferarm

Question Number : 117 Question Id : 5362284508 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



Match the models of teacher education in List I with the description in Last I

List I List IT
Models of teacher education Dezcrption
{a} Compentency based (1)  Participants explore academic content

by posing and investigating question

(b) Behaviounstic (11) EKnowledge and skills are developed by
observation

(¢} Inguiry oriented (111) Principle of operant conditioning used
for teacher training

(tv) Participants become proficient through
demonstrating mastery

Choose the correct answer from the options given below:
(1) (a)-v). (b)-(ii). (e)-(1)
(2) (a)-(11). (b)-(1). (e)-(1v)
(3) (a)-(m1). (b)-(1). (c)-(1)
(4) (a)-(1). (b)-(111). (c)-(11)

Options :

53622817565. 1
53622817566. 2
53622817567.3
53622817568. 4

Question Number : 117 Question Id : 5362284508 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Tl 14 sAenrass foan & gfaaei =1 g4t [1H 39 faaw 3 faem & |

List I
(3T T9E & 9EgE)
(a) ETOTET STETE
(b) IR
() Ve IgE
TEferiEd O | " 3 9
(1) (a)-(v). (b)-(111), (e)-(1)
(2) (a)-(11). (b)-(1). (c)-(1v)
(3) (a)-11). (b)-(11). (e)-(1)
(4) (a)-(1). (b)-(m1). (c)-(12)

Options :

53622817565. 1
53622817566. 2
53622817567. 3
53622817568. 4

(1)

(11)

{111)

(1v)

List II

(Feraramn)
T T S vl 1 A= gR Sleriues
fararas =1 oA @ # |
B
e utvem # foe feamma sHEe &
T |
fawa = quf wAfusr geiia & % e 4§
yfaanft fgo =7 =4 2

Question Number : 118 Question Id : 5362284509 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match the types of research in List I with the features in List IL

List I
Types of research
(a) Exploratory
(b) Cross-sectional
(c) Explanatory

(d) Trangulation

(e) Longitudinal

(i)

(11)
(111)
(iv)

(v)

List 1T
Features

Quantitative and qualitative data are
gathered and integrated

Qualitative data 1s gathered first and
the same predominates later

Retrospective analysis of history of a
unit

Quantitative data 18 gathered first and
the same predominates later

Macro level analysis attempted for the
data

Choose the correct answer from the options given belows:

(L (a)-(v), (b)-(11), (e)-(1). (d)-(12), (&)-(1V)
(2) (a)-(11). (b)-(v), (c)-(1v). (d)-(1). (e)-(111)
(3) (a)-(av). (b)-(111). (c)-(1). (d)-(11) . (e)-(v)
(4 (a)-(). (b)-(11). (c)-(i12), (d)-(1V). (&)-(V)

Options :

53622817569. 1

53622817570. 2

53622817571. 3

53622817572. 4

Question Number : 118 Question Id : 5362284509 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



w1 19 Iecliaa 9 = 9T #1 g4t 119 Zeeifan fasmarsa | mems &1

Tt I
(Tr 1 T

(a) A=Y

(h) Y HEE 4T

(c) ST

(d)  FErgsTEFm

(e)  ITIeexTH
frefefas 7 @ 98 3@ == -
(1) (a)-(v), (b)-(111), (c)-(1), (d)-(11). (e)-(v)
(2) (a)-(11). (b)-(v). (e)-(1w). (d)-(1). (e)-(111)
(3) (a)-(1v), (b)-(111). (c)-(1), (d)-(11) . (e)-(v)
(4) (a)-(1). (b)-(11), (c)-(111). (d)-(av). (e)-(v)

Options :

53622817569. 1
53622817570. 2
53622817571.3
53622817572. 4

(11)

(111)

(1v)

(v)

w11

(fersream )
TIAIEE UE R W Hferd feu
A # A4l 3% gufae fE e 2|
AW TONHE WeA Hehfew Il S @
au7 39 # are d urare faer 2 |
U SIS o gfaard 1 Jeierndt favero |
HEe qHHTTEE Yew Heled e = 8
1 9 § 9HEal TEd #
gedl @ feu wafmyE faseo

Question Number : 119 Question Id : 5362284510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I consistz of kinds of curriculum change according to complexity, List II comprises
examples of such curriculum change:

List I List IT
Tvpe of curriculum change Examples

(a) Substitution (11 Emphasis on personal growth of
students than academic growth

(b) Alteration (11) Change 1n time allowed for teaching a
particular subject

{c) Perturbation (1) New text book replaces the old text
book

(d) Value orientation (1v) Introduction of new content into

exizting learning materials

Choose the correct answer from the options given belows :

() (@)-av), (b)-(1). (e)-(1). (d)-(1i1)
(2) (a)-(1). (b)-(111). (c)-(1v). (d)-(12)
(3)  (a)-(iil). (b)-(iv). (c)-({i). (d)-(@)
(4)  (a)-(1), (b)-(). (c)-(111), (d)-(v)

Options :

53622817573. 1

53622817574. 2

53622817575.3
53622817576. 4

Question Number : 119 Question Id : 5362284510 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



o1 [ wfeean & SHER TEAws THEET FUET 8 get 1108 TREss it F 3emn 9 9 8 ) g 1
1 |4l 11 # gHfer #1

Tl I T 11
(IT3TFH I & T (FeraT)
(a) UfFEATR (1) et T & amden faenfd=l o safeam
(b) @A (i) Taom fawg =1 wg@ & few fou o 7oy o
qfeadA
(c)  IFASIEARI (iii) = TGS WE TEAEEE & e
FA 2
(d) HFH THF (iv) Her safamm w4 % sa-as @6
feTTeha fahed] | ® H&l 370 9 -

(1) (a)-(1v ), (b)-(11). (c)-(1). (d)-(111)
(2) (a)-(1), (b)-(111). (c)-(1v), (d)-(11)
(3) (a)-(11), (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(11). (b)-(1). (¢)-(1i1). (d)-(iv)

Options :

53622817573. 1
53622817574. 2
53622817575. 3
53622817576. 4

Question Number : 120 Question Id : 5362284511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I consists of types of evaluation in CIPP model while List IT comprises the objectives to

be achieved through these evaluation

List I
Types of Evaluation

(a) Context evaluation

(b) Input evaluation

{c) Process evaluation

(d) Product evaluation

(1)

(1)

(111)

(1v)

Last IT
Objectives
To 1dentify defects in the procedural
design or 1ts implementation plan

To communicate information
regarding objectives achieved and
contents covered

To determine the needs and
opportunities present and diagnose
the problems

To 1identify and assess the school
system capacities

Choose the correct answer from the options given belows:

(1)

(2)

(3)

(4)
Options :

(a)-(11). (b)-(111). (c)-@v ). (d)-(1)
(a)-(111). (b)-(iv). (e)-(1). (d)-(11)
(a)-(1v). (b)-(1). (e)-(11), (d)-(111)
(a)-(1). (b)-(u). (¢)-(11). (d)-(1v)

53622817577. 1
53622817578.2
53622817579. 3
53622817580. 4

Question Number : 120 Question Id : 5362284511 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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qAl T
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(b)  HFTE-geai=A
(c) i -urared

(d) SenE-geais
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(1) (a)-(). (b)-(i11), (e)-(iv), (d)-()
(2)  (a)-(m). (b)-(v). (e)-(2). (d)-(11)
(3)  (a)-(w). (b)-(2). (e)-(11). (d)-(m1)
4 (a)-). (b)-(1). (c)-(111). (d)-(v)

Options :

53622817577 1

53622817578.2

53622817579.3
53622817580. 4

g1 11

(i)  Wierareas A O @1 39 g | g
EAREEIEE]

(i) wred Tepu o 3wl @ wuElEE seaEe |
(e = 1 HA F

(i) faEmm s a9 AEvEEa s & i g
HAHE A 1 HaH

(iv) Tbel WorTel] efdrsd =) JEeE 9 iR
FEAT

Question Number : 121 Question Id : 5362284512 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0



List I gives the names of intelhgence theories while ListIl indicates the proponents of

theories
ListI Last IT
Intelligence theory Promoters
(a) Multiple Factor theory (11 Daniel Golemen
(b) Structure of Intellect model (1) Howard Gardner
(c) Multiple Intelligence (1) L.L. Thurstone
(d) Emotional Intellizence theory (iv) J.P. Gulford

Choose the correct answer from the options given belows :
(1) (a)-(u). (b)-(v). (c)-(1). (d)-(1)
(2)  (a)-Q). (b)-(). (c)-(1). (d)-(v)
(3)  (a)-v), (b)-am), (0)-(). (d)-(iD)
4 (a)-dd). (b)-Q). (c)-(v). (d)-(11D)

Options :

53622817581. 1
53622817582.2
53622817583. 3
53622817584. 4

Question Number : 121 Question Id : 5362284512 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



gt 140 (wen fagral) % 9w fer o ¥, wmfe g 119 33 fagi & (demesl) i S T a2
gefl 101 51 118 Hqufera $ifao

w1 = 11
(a) FE-FHNF EgE 1y e e
(b) g & FrEE # gfEE (i) EETE TEs
(c) =g-faurmas wa (i) UE.TA. 9=2H
(d) HTETEF U (iv) . TesE
#r= feu o fowel 9 ¥ oE I A

(1) (a)-(111), (b)-(1v), (e)-(11). (d)-(1)
(2) (a)-(1). (b)-(ii), (e)-(1id). (d)-(iv)
(3) (a)-(av). (b)-(111), (e)-(1). (d)-(i1)
(4) (a)-(11), (b)-(1). (e)-(1v). (d)-(1i1)

Options :

53622817581. 1
53622817582.2
53622817583. 3
53622817584. 4

Question Number : 122 Question Id : 5362284513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



List I includes the name of Indian thinkers and List II mention books authored by them

List I List IT
Indian thinkers Name of Books
{a) Mahatma Gandhi (1) A life Devine
(b) Rabindranath Tagore (1) Bartaman Bharat
(c) Sri Aurobindo (111) The Home and the world
(dy Swam Vivekananda (iv) My Experiment with truth

Choose the correct answer from the options given below:

(1) (a)-(111), (b)-(av). (e)-(1). (d)-(1)
(2 (@-{. (b)-(v). (c)-(). (d)-(1iD)
(3)  (a)-(). (b)-(1). (c)-(1v), (d)-(11)

(4)  (a)-(iv). (b)-(iid). (¢)-(1), (d)-(ii)
Options :
53622817585. 1
53622817586. 2
53622817587. 3
53622817588. 4

Question Number : 122 Question Id : 5362284513 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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(arra faam)
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(d) wETH fadeE
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(1) (a)-(111). (b)-(1v). (e)-(1). (d)-(1)
(2) (a)-(). (b)-(v), (c)-(1). (d)-(111)
(3)  (a)-Q). (b)-(111). (c)-(1v). (d)-(11)
(4) (a)-v), (b)-(111). (e)-(1). (d)-(11)

Options :

53622817585. 1
53622817586. 2
53622817587.3
53622817588. 4

Question Number : 123 Question Id : 5362284514 Question Type : MCQ Option Shuffling : No Is Question

Mandatory : No
Correct Marks : 2 Wrong Marks : 0

=t 11
(g==hl % =)
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(iv) w7 vaufes fag gy



List IT gives twenty five metaphysical categories of sankhya and List IT provides their types

Last I
Types

(a) Cause only

{(b) Effect only

{c) Both cause and effect

(d) Neither cause nor effect

(1)
(11)

(111)

(1v)

Last IT
Metaphysical categories
Purusa

Mahat. Ahankara and five subtle
essences

Five sensory organs, Five motor

organz. Manas and five gross bodies

Prakriti

Choose the correct answer from the options given below:;

(1)
(2)
(3)

(4)
Options :

(a)-(1v). (b)-(i11). (¢)-(11). (d)-()
(a)-(11). (b)-(1). (¢)-(v). (d)-(112)
(a)-(iii). (b)-(iv). (e)-(). (d)-({1)
(a)-(1). (b)-(ii). (c)-(iii). (d)-(iv)

53622817589. 1
53622817590. 2
53622817591. 3
53622817592. 4

Question Number : 123 Question Id : 5362284514 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= [T H H7a i1 o= deadfares ot 4178 8 siw g6 I 9 3735 v 2 -

T 1 T 10
(T (AeadETETE 2T )
(a)  del 0 (9T ) i)
(b) e WA (Faa fagia) (i) W, STEeh 30 i e deErEd
(c) =N S HAE S (Wl va fagfasHl) @) 9 e, g ias S, a9E st e
CIEE U ER T ERER AT EREEAG) (iv) WeRfd

13 fau o fammedi 4 w8 3 =4 -

(1) (a)-(w). (b)-(ii1). (c)-(11), (d)-(1)
(2)  (a)-(m). (b)-(). (e)-(v). (d)-(m1)
(3)  (a)-(m). (b)-v). ()-(1). (d)-(a1)

(4 (a)-(1). (b)-(10). (c)-(11). (d)-(v)
Options :
53622817589. 1
53622817590. 2
53622817591. 3
53622817592. 4

Question Number : 124 Question Id : 5362284515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are included under ICF model of classification and disabilities?
(A) Body function and structures

(B) Participation or involvement 1n all areas of hife

(C) Environmental factors

(D)  Policies framed for the disabled

(E) Funding from the government

Choose the correct answer from the options given below :

(1) (B). (C). (D)
(2) (A). (B). (C)
(3) (C). (D), (E)

(4) (A), (C), (E)
Options :
53622817593. 1
53622817594. 2
53622817595.3
53622817596. 4

Question Number : 124 Question Id : 5362284515 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fesamran =nfferror o 311 diow wfamma & ia fFafafes @ 9 99-1 e o e 80
(A) T THEHE Ud HEAn

(B)  ftad & |t & § wnfiert @ mins 2

(C)  TaTairg i

(D) fesamm & fee g e Hifeal

(E) =R & T

feaferfiga 0 9 wal 371 =4 |

(1) (B). (C). (D)
(2) (A). (B). (C)
(3) (C). (D), (E)

(4) (A). (C). (E)

Options :

53622817593. 1
53622817594. 2
53622817595. 3
53622817596. 4

Question Number : 125 Question Id : 5362284516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Identify the statements which indicate the needed actions for a change process of an
organization.

(A) The organization must go through an “Unfreezing”

(B) Anxiety one — fear of change should be decreased

(C)  Anxiety two — fear of not changing must be increased

(D) Adoption of any innovative procedure leading to trial

(E) Discussion based on the analysis of forces — restraing and driving
Choose the correct answer from the options given below:

(1) (A). (C) and (D)

(2) (B). (D) and (E)

(3) (C). (D) and (E)

(4) (A). (B) and (C)

Options :

53622817597. 1
53622817598. 2
53622817599. 3
53622817600. 4

Question Number : 125 Question Id : 5362284516 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



i |ra i ulsn 4 a5eiid 7 AEvIE FE 5T FE FTe 24H FE H1E 7
(A) TS ] e SEH] =1 |

(B)  Feerd =i wem weRE o e O i g s =nfEe )

(C)  -sgena i fzedra ween 1 Foan o gfa o s =i |

(D)  Tert e wign 0 sg=rn s feraen afieror e sn e

(E)  amesh Ud et el o faverm s ==

Treyterfaa 4 w39 = |

(1) (A), (C) and (D)

(2)  (B). (D) and (E)

(3)  (C). (D) and (E)

(4) (A). (B) and (C)

Options :

53622817597. 1
53622817598. 2
53622817599. 3
53622817600. 4

Question Number : 126 Question Id : 5362284517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are proposed by Edward Deming for quality assurance
(A) Adopt new philosophy

(B) Cease dependence on inspection

(C) Coerce for poor performance

(D) Institute traimng on the job

(E) Drive out fear

Choose the correct answer from the options given below:

(1) (A). (B). (C) and (D)
(2)  (B).(C). (D) and (E)
(3) (&), (B). (D) and (E)
(4)  (A). (C). (D) and (E)

Options :

53622817601. 1
53622817602. 2
53622817603. 3
53622817604. 4

Question Number : 126 Question Id : 5362284517 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
U] SATETHA @ v wzars fm | et e fem e

(A) U 2 1 T A

(B) e w i wErE &
(C) T&7a HEAEA &1 915 &
(D) M & GrA T femn S
(E) ¥ gfFd
fr=ferfaa O | 981 39 =4 |

(1) (A). (B). (C) 1 (D)
(2) (B (C). (D) 51 (E)
(3)  (A). (B). (D) 31 (E)
(4) (A, (C). (D) 31 (E)



Options :

53622817601. 1
53622817602. 2
53622817603. 3
53622817604. 4

Question Number : 127 Question Id : 5362284518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the sequence in generating a grounded theory

(A) Coding and memoing

(B) Deciding about the needed sampling design and data collection
(C) Identification of the core variable leading to its saturation

(D) Categorization and comparison

(E) Theory verification and generalization emerging

Choose the correct answer from the options given below:

(1) (A). (B). (D). (C). (E)
(2)  (C). (A). (D). B). (E)
(3) (D). (A). (C). (B). (E)

(4) (B). (A). (D), (O), (E)
Options :
53622817605. 1
53622817606. 2
53622817607. 3
53622817608. 4

Question Number : 127 Question Id : 5362284518 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SArarieer faaTd = 994 oq 4 faf=a #1 |

(A) FeelEA s gfasm

(B)  SATavas Hiderda s ik den dad o forn s
(C) 3uhl Hafed o shwek gereri 1 fafzd e

(D) =i v g

(E) Torgrd geam= va amrdis st

Freferfiga € 6 w2 39 =4 |

(1) (A). (B). (D). (C). (E)

(2) (C). (A). (D). (B), (E)

(3) (D). (A). (). (B). (B)
4 (B). A, D). (©).E

Options :

53622817605. 1
53622817606. 2
53622817607. 3
53622817608. 4

Question Number : 128 Question Id : 5362284519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Human capital theory gives emphasis on ;

(A) Security of staff

(B) Staff motivation

(C) Investment on education

(D) Inservice education of the staff

(E) Staff recruitment

Choose the correct answer from the options given below:

(1) {A), (B) and (E)
(2) (B). (C) and (E)
(3) (B). (C) and (D)
(4) (C). (D) and (E)

Options :

53622817609. 1
53622817610. 2
53622817611.3
53622817612. 4

Question Number : 128 Question Id : 5362284519 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



e el fiagra O fsferfias O & fam v siw fean e 27
(A)  FHAEE] F g
(B) == i sfas
(C) Toren w faw
(D)  =rd=rieai =1 3 o faen
(E) shd=rivai &l adi
e fetfad 06 w1 37 94 |
(1)  (A). (B) 31 (E)
(2) (B (C) 3 (E)
(3)  (B).(C) 3 (D)
4 (C). (D)3 (E)
Options :
53622817609. 1
53622817610. 2

53622817611. 3
53622817612. 4

Question Number : 129 Question Id : 5362284520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



While preparing a budget. which of the following points are considered to be mandatory?
{A) Revenue

(B) Objectives of the institution

(C) Expenditure

(D) Commumnity involvement

(E) Teachers salary

Choose the correct answer from the options given below:

(1) (A). (C) and (D)
(2) (A). (B) and (C)
(3) (B). (C) and (E)

(4)  (C). (D) and (E)
Options :
53622817613. 1
53622817614. 2
53622817615.3
53622817616. 4

Question Number : 129 Question Id : 5362284520 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



513 s1ofe o SR Hd feforfan O § #iH -3 faegen &1 e s 27
(A) T4

(B) TEH & 39y

(C) =13

(D) HYER &1 9ITHe ]

(E) Toeeri =1 9=

fAfetfiga o & w391 94|

(1)  (A). (C) 31 (D)

(2) (). ®B) M (C)

(3)  (B).(C) 3 (E)

4)  (0). (D)3l (E)

Options :

53622817613. 1
53622817614. 2
53622817615.3
53622817616. 4

Question Number : 130 Question Id : 5362284521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following features explain the concept of dependent origination in Buddhist
Philosophy?

(A) Everything in this world i1s conditional and relative

(B) From the ultimate stand point there 1s no diffrence between “Sanasara and Nirvana”
(C) All appearances have real origination

(D) Appearances are not devoid of ultimate reality

(E) All appearances (dharmas) being relative have no real origination

Choose the correct answer from the options given below:

(1) (A). (B) and (C)
(2) (B). (C) and (D)
(3) (A). (B) and (E)
(4) (C). (D) and (E)

Options :

53622817617. 1
53622817618. 2
53622817619. 3
53622817620. 4

Question Number : 130 Question Id : 5362284521 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1@ 914 4 "efied \genrg 1 srasmon 1 Fefeied § 8 wia-H g o 5vd 2 )
(A) 39 HEE 0 He %@ {IaE A 2 |

(B) wrider gfe § wan o Faim’ & e g e ad 2

(C) &fi arefi =) & Feafa aratas 2

(D) sl &Y = At d e 92 2

(B) ®fiamed =y (sm) 5z 2 37 18 ardias 3edid 76 &
feforfaa 44 w2 3 94 |

(1)  (A). (B)and (C)
(2)  (B). (C) and (D)
(3)  (A).(B)and (E)
(40 (C). (D) and (E)

Options :

53622817617. 1
53622817618. 2
53622817619. 3
53622817620. 4

Question Number : 131 Question Id : 5362284522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R

Assertion (A) : Information systems support promotion of research. development and

innovation related growth of a country.

Reason (R) : Information 1s the basic input to the development

In the light of the above Statements. choose the most appropriate answer from the options

eiven below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3 (A) 1= correct but (R) 18 not correct

(4) (A) 13 not correct but (R) 1s correct
Options :
53622817621. 1
53622817622.2
53622817623. 3
53622817624. 4

Question Number : 131 Question Id : 5362284522 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 g1 A fqu o # v w1 sAfsem (A) 3 gEL ) a6 (R) FaE T E
HAgFeE (A) fareft 2o 1 | worferal Iue 9y, fasm va FarEn | Haian gig @ @neE ueH
HAl 2 |

% (R) : fempmer & a1 v gfaand ffafe 2
Tdae FUAl & A § Tretea faswed § § waifas v 3w 9

(1)  (A) 31 (R) ZA1 T8 2 30 (R). (A) =1 T2 =478 2 |
(2) (A 3 (R) EH 88 & T (R). (A) i T = T8 2 |
(3)  (A)%Hdl 2 W (R) ¥&l 771 @ |

(4) (A=A TE 2 WA (R) HE R



Options :

53622817621. 1
53622817622. 2
53622817623.3
53622817624. 4

Question Number : 132 Question Id : 5362284523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One is labelled as Assertion A and the other 1s labelled as

Reason R

Asszertion (A) :  Planning for instructions refers to the decisions made about organising.
implementing and evaluating instruction.

Reason (R) : Planning gives a senae of direction and through this a feel of confidence to

the teacher. It helps the teacher to become a reflective decision maker

about instruction.

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3) {A) 18 correct but (R) is not correct

(4) (A) 1s not correct but (R) 1s correct

Options :

53622817625. 1
53622817626. 2
53622817627.3
53622817628. 4

Question Number : 132 Question Id : 5362284523 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



1 g1 rea fqu e & ;v o sAfaERes (A) ST 61 1 @5 (R) @17 & |

e (A) - SHTA [reH | sifuam si9evM &1 afem &3, Haif=d 4 S 33 godiEd &
T 4 e o fvig 2

@ (R) : forrem fomm o) \we wam s @ SiT gaeh w3 e &) seafavams nega 2 2 |
3o forereh o) s & o d sl Fofsai a9 o wes faerdi 2

Fuad Ui o s d Feriwd faswed] 4 A Haffas sugw 39 =

(1) (A) 3 R) 2F 9d £ 3 R), (A) A udi samen 2
(2)  (A) 3 (R) aF1 58 2954 (R). (A) #F1 58 sren J2 2 |
(3) (A HE 2w (R) q8 740 2 |

4 (A 2w ®) 52
Options :
53622817625. 1
53622817626. 2
53622817627. 3
53622817628. 4

Question Number : 133 Question Id : 5362284524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A):  Tests with larger number of items have higher rehability

Reaszon (R) : Each test item adds to test reliability

In the hight of the above Statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
() Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3) (A) 1s correct but (R) 1= not correct

(4) (A) 1s not correct but (R) 18 correct
Options :
53622817629. 1
53622817630. 2
53622817631. 3
53622817632. 4

Question Number : 133 Question Id : 5362284524 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1 €1 oA Tau e 2« ueh o1 safasem (A) 3R 789 &1 7 (R) Fa1 70 2

sifused (A) - o wliaqoni 1 s1ferss v 2 7, 396 favaa-aa iy ardi 2 )
% (R) : e g v 42 whEm ] favasTaa 9 g 2 |

I el o srrerre i it fasedl 0 & waffe sy w91

(1) (A) 3R R) 5H1 T8 & AW (R), (A) Fl 98 === 2 |
(2)  (A) 3 (R) 5HI G & Ui (R). (A) 6 =l =mem T 2
(3) (Qud2wg R ESTHER)

(4)  (A)=E FF 2 (R) 96 7

Options :



53622817629. 1
53622817630. 2
53622817631.3
53622817632. 4

Question Number : 134 Question Id : 5362284525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : One 1z labelled as Assertion A and the other 1z labelled as

Reason B

Assertion (A) : Concurrent validity coefficients are generally hizher than predictive
vahidity coefficient

Reason (R) : This does not mean that the test with higher validity coefficient is more

suitable for a given purpose

In the light of the above Statements, choose the most appropriate answer from the options

g1ven bhelow :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 18 true but (R) 1= false

(4 (A) 1= false but (R) 1s true

Options :

53622817633. 1
53622817634. 2
53622817635. 3
53622817636. 4

Question Number : 134 Question Id : 5362284525 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT 21 %A fau o 2 us 1 sfaser (A) 3T gE & 99 (R) FE T E

AfTFAT (A) Al e oTen, Tl A9 U & =T JEET: 399 2 2

3 P: i =] 9] s T L) : ¥ -. 1= i - ‘i' =4 2 : ;
a# (R) s A T2 AE 2 Toh 3=a e vish aren wiaw el ged gareE & o sfaes 3w
21

P el = AT H i fased 4 9 Fatiaes 30gad 3w 94

(1) (A) 3 (R) 241 & & 3t (R), (A) Fad =men 2|
(2) (A #F (R) aH1 980 2 951 R), (A) Fl =2 = 7 2
(3)  (A) HE 2w (R) | AF 2 |

(4) (A =8 38 27 R) 98 2

Options :

53622817633. 1
53622817634. 2
53622817635. 3
53622817636. 4

Question Number : 135 Question Id : 5362284526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : One 1s labelled as Assertion A and the other is labelled as

BReason R

Assertion (A):  The quality of reflection iz determined by the ability to match teaching

behaviour to the established codes

Reason (R) : In techmical approach to reflection propositional knowledge 1s reflected

upon and then applied to practice

In the lhight of the above Statements. choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3) (A) 1s true but (R) 1s false

(4) (A) 1= false but (R) 1s true
Options :
53622817637. 1
53622817638. 2
53622817639. 3
53622817640. 4

Question Number : 135 Question Id : 5362284526 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9 €1 wua fou o E 2 uw ) sifimea (A) S EE # A (R) R T 2

afgrea &) fagsl F1 o e sraEn w1 wenfua wfeae @ e o g faiie g9
=

% (R) : fageier & Tou Aadreh] g O srfsaaTegs 9 7 Al ey smer 2 3 aeavEn
39 sgaen 4 @) faa s 2

IF FYA1 & A ° ifaa fawedi § 9 wative I 3 94

(1)  (A) 37 (R) EH 88 & 317 (R), (A) =1 HF =081 2 |
(2)  (A) 3N (R) 2H B & WA (R), (A) 1 5l =me 7€ 2 |
(3) (A)®F 2 WA (R)TEd 2|

(4)  (A)TeE 2 WA (R) TE B

Options :

53622817637. 1
53622817638. 2
53622817639. 3
53622817640. 4

Question Number : 136 Question Id : 5362284527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : Scientific management theory of F.W. Tayvlor gives a mechanical

explanation of work and workers.

Statement II: Human relations, leisure and emotion are given prime importance by

F.W. Taylor to enhance productivity of an organization

In the light of the above Statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect

(3) Statement I i1s correct but Statement II 1s incorrect
(4) Statement I i1s incorrect but Statement IT is correct
Options :

53622817641. 1
53622817642. 2
53622817643.3
53622817644. 4

Question Number : 136 Question Id : 5362284527 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

1= 71 e feu T E

FYF (I):  UF, Teolg TR F1 A vEeA fagm e vd il & aifas swe g 2|

Fe4 (1) : Uk, T ol W34 =1 Iedreshal 1 gfg @0 A4 Fd WG Hedl, §Ed 30 9rEas #
e HEed fgmn 2|

I FUH1 % AT § Frenfwa fawedi 8 | uE I o

(1) @y 130 11 2F |98 21
(2) YA 1 30 11 e |8 980 2
(3)  FYF 1T 2, fhg oA 11 58 781 2

(4)  ®UA IHE 7 2, Thq F99 L84 2 |



Options :

53622817641. 1
53622817642. 2
53622817643. 3
53622817644. 4

Question Number : 137 Question Id : 5362284528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Given below are two statements :

StatementI: To 1mprove preservice teacher education programme the aspirants for

teaching profession be screened for their aptitude in teaching

Statement II: Faculty improvement programme for teachers should be regularized to

1mprove preservice teacher education.

In the light of the above Statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I is correct but Statement IT 1s false
(4) Statement T is incorrect but Statement 1T 18 true
Options :

53622817645. 1
53622817646. 2
53622817647. 3
53622817648. 4

Question Number : 137 Question Id : 5362284528 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



@ g feumu .

w4 (D) :  HAI-TE AT (91e0 F1hwE W qUE 5 o forn [e sgewEa & sl i e o) 39
sifipsta o fou st fism |

Fod (I1) . Fa-1d spearis: e § g9 i % oo st & fom g qan wriwg %) Hafra a3

FH1 TR |
T FAA o el 1 Feia fashedl § 8 39y I 9

(1) A ISR IIEH A 2 |
(2) 9 IR I 5H 981 37 2 |
(3) &[5 2, fohd Fom I reAd 2 |

(4) oA [T 2 o e ISR 2 |

Options :

53622817645. 1
53622817646. 2
53622817647.3
53622817648. 4

Question Number : 138 Question Id : 5362284529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I : As the alpha level becomes more stringent — goes from 0.05 to 0.01 the power

of a statistical test decreases

Statement IT: A directional hypothesis leads to more power than a non — directional

hypothesis

In the light of the above Statements. choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true

(2 Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement IT 1s true
Options :
53622817649. 1
53622817650. 2
53622817651. 3
53622817652. 4

Question Number : 138 Question Id : 5362284529 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FY7 (D) : -9 ‘wew w0 oAfas 8 sl w30 319 .05 9 .01 B B, mifesh 9fiew £ wfE
4 =gFal AT 2 |
YA (1) :  AfEsmars TfmeT & 9y Fenens seoa Afys wfea it 1 e g 21

I FAF] & ATE B AT fwedi 8 | 5E I a9

(1) Hy9 [ 3R [ T & |
(2) YA [ 37 I EF Teq 8 |
(3) YA 15 2, g &Y= 117 2|

(4)  FHF 1A 2, g wum I 2

Options :



53622817649. 1
53622817650. 2
53622817651. 3
53622817652. 4

Question Number : 139 Question Id : 5362284530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I : In Freud's postulation

Id 1s the original system of personality and 1s the reservoir of psychic energy.
It uses the mechanism of pleasure principle and is a tension reduction

mechanism

Statement II: All defence mechanisms have two gqualities, They deny. distort or falsify

reality and thev operate unconsciously

In the light of the above Statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement IT are false

(3) Statement I 1s correct but Statement II 1s false
(4) Statement I is incorrect but Statement II 1s true
Options :

53622817653. 1
53622817654. 2
53622817655. 3
53622817656. 4

Question Number : 139 Question Id : 5362284530 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817653. 1
53622817654. 2
53622817655. 3
53622817656. 4

Question Number : 140 Question Id : 5362284531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I: In addition to the fact that growth is continuous, it can be relatively rapid in
certain stages of development

Statement II: The procesz of development follows a pattern in terms of physieal
development — Cephalo — Caudal sequence while in the case of mental
development 1t shows an increase in the capacity of concrete level thinking
to abstract thinking

In the hght of the above Statements. choose the correct answer from the options given

below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s correct but Statement II 1s false

(4) Statement I 1s incorrect but Statement II 1s true



Options :

53622817657. 1
53622817658. 2
53622817659. 3
53622817660. 4

Question Number : 140 Question Id : 5362284531 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :
53622817657. 1
53622817658. 2
53622817659. 3
53622817660. 4

Sub-Section Number : 2
Sub-Section Id : 536228178
Question Shuffling Allowed : Yes

Question Id : 5362284532 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Paszage — 1
Instruction : Pleasze read the following passage and answer the guestions 91 — 95,

Communication 1= much more difficult when there 1z a difference of opinion between
emplovee and supervisor. or between any colleague at work. than when they agree. Laura
Carrol has outlined a series of steps for emplovees to use when they wish to communicate a
problem to an emplover or coworker or to get a negative situation resolved. The central 1dea
15 the 1dea of creating a thought process that fosters an understanding of what the problem 1z
and how 1t can best be resolved. She suggests that the emplovee see the problem from the
other person's point of view and make certain that the “facts” of the situation are true from
both view ponts. If this can be done, then there exists a level. non judgemental. playving field
from which solutions can arise without hurt feehngs and misgivings. This 138 what the
communication process 1g all about : respect for vourself, vour 1deas, and those of the other
person.

Under the stress of differences. however, it 1s all too eazy for empathy to dizappear and
Jjudgment to take the center stage. Any difficult conversation 1z really three conversations in
one, all operating at the same time. The first 15 the “What happened?” conversation in which
vou describe "My storv” and the other person defends theirs. instead of exploring each other's
stories and acknowledgming what each partv contributed to the 1zsue. Second 1s the “feelings”
conversation — which 1s often regarded as unprofessional and may be discouraged in the work
place. However. emotions are always present. theyv are normal. and they are data that can
more fully inform the nature of the conflict. Finally. there 1z the identity” conversation. in
which there involved mayv feel that some of their identity 1= threatened. Leaders with social
competence can navigate these three conversations and transform them into one learning
conversation at a time,

Sub questions

Question Number : 141 Question Id : 5362284533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Communication becomes difficult in which of the following situations?
(A) Difference of opinion between emplovee and employer

(B) Difference in the nature of work allotted and done

(C) Difference of opinion between emplovees at work

(D)  Dafference of treatment given to employees

(E) Difference of language spoken by employees
Choose the most appropriate answer from the options given below :

(1) (A), (B). (D) only
(2) (A). (B). (C) only
(3) (A). (C), (E) only

(4) (A). (C). (D) only

Options :

53622817661. 1
53622817662. 2
53622817663. 3
53622817664. 4

Question Number : 142 Question Id : 5362284534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following steps are needed to communicate 1n a negative situation?
(A) Create a thought process to foster understanding

(B) Enable people to see the problem from other’s perspective

(C) Speak loudly and clearly

(D) Create a non —judgemental playing field for both parties

(E) Understand the language of the receiver

Choose the most appropriate answer from the options given below :

(1) (A). (C). (E) only

(2)  (A). (D). (E) only

(3) (A). (B), (C) only
(4) (A). (B). (D) only



Options :

53622817665. 1
53622817666. 2
53622817667. 3
53622817668. 4

Question Number : 143 Question Id : 5362284535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following statements describe the meaning of communication?

(1) Respect for culture. community and nation
(2) Respect for self. one’s 1deas, and others’ ideas
(3 Respect for family, self. and others’' ideas
(4) Communication is a two way process

Options :

53622817669. 1

53622817670. 2

53622817671. 3
53622817672. 4

Question Number : 144 Question Id : 5362284536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Under which of the following circumstances empathy 1s replaced by judgement?

(1) In case of same opinion between sender and receiver

(2) In case of large number of people to be communicated

(3) In case of in-formal communication

(4) In case of difference of opinion between sender and receiver
Options :

53622817673. 1
53622817674. 2
53622817675. 3
53622817676. 4

Question Number : 145 Question Id : 5362284537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which competency 1s needed in a leader to navigate a difficult conversational situation to a
meaningful learning conversation?

(1) Social intelligence (2) Emotional intelligence
(3) Multiple language (4) Manipulative skills
Options :

53622817677. 1
53622817678. 2



53622817679. 3
53622817680. 4

Question Id : 5362284532 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

ey - Trefeaias sigeds 1| Jee 994 91-95 % I 4 -

FHE R AR 3 e A1 dEsiial o 9 T O deafa o A, 390 9ads o werasn 39 Uid
wuww| At i3 2 s 8 | s = fEd ween ) SR fafa o aaeE 6 g # oo 3
frraterent 2n werekfd =6 i s o g vad 2 A uH fefa o for s S 3 sdenern % suEm 2q Jae
T 1 o s e o 2 | g e v S foem e o @ e o wfen gl 1 s S 2
e ol dgrdl & o Ju #1 2 a9) S5 HaE sl B 1 ¢ | TRH g 2 i el gea F g |
He 5 3 U w93 3 g gl i fm afferts ) arafaem 99 A gfe 4 ad 2 af v @ awar g
sk U T o] A1 qR o ek & Fored el of) wfafien % a8 i ol feomfl 4 S wuessi &
HUTA F1 39 T ¢ foe e o araesti # sed e va wee o e feu feen | s < ufwn
T YA Bl 2 ;o T o ufd weae, o foem # ui dongad o e ol we

qawEl = Afdaet & Ferasn agadfd #1 faer 2 s et 2 | vl g H ol forfor s s
il 2 | #r2 off fere avdiem fF 22 & faee a9d 2 S o 6 aug o Grawie 26 2 ) e e 2
B 1w Ao oy s s 9viF R @ ae gal ST sasTd i sthariae e 8 g saes foR 9 v
o ol AT T e B9 H 39 HeT a9 39 HaEF 1 TEtid = | g, e ugE ardiem g
T s 1ae i Sl 2 9o 42 shrdeud 8 e faren st 2 | a0 Ham 2hn faeme 2 2 vd s
T ST 2 AU d U UM ST 9EH #4d 8 911 5749 sl Yepfd I TR A 7 | 35 O, 9edH Wk andiemn fare
F=avifaa o T qegd w0 § B R v v g @ | annfeer gefioren a3 29 o[ @ wen
ATt i B 9 & a9 398 v s arfen o il § savata e wwd 2

Sub questions

Question Number : 141 Question Id : 5362284533 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817661. 1
53622817662. 2
53622817663. 3
53622817664. 4

Question Number : 142 Question Id : 5362284534 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817665. 1
53622817666. 2
53622817667. 3
53622817668. 4

Question Number : 143 Question Id : 5362284535 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817669. 1
53622817670. 2
53622817671. 3
53622817672. 4

Question Number : 144 Question Id : 5362284536 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817673. 1
53622817674. 2
53622817675.3
53622817676. 4

Question Number : 145 Question Id : 5362284537 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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53622817677. 1
53622817678. 2
53622817679. 3
53622817680. 4

Sub-Section Number : 3
Sub-Section Id : 536228179
Question Shuffling Allowed : Yes

Question Id : 5362284538 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension



Passage — I1
Instruction : Pleasze read the following passage and answer the questions 96 —100.

Organizational change 1s a complex and continuous process. having several sequential
aspects. In the process of planned change. several actors are involved — the corporate
management. the external consultant(s). the counterpart. the implementation team. the
chief implementer. and the task forces. Every actor performs specific functions.

The investment of time and energy 1n the process work 1n the beginning helps to smoothen
progrezss on task achievement later. The implementation of change 1s itself a complex
process and requires a great deal of attention. Planning 1s followed by action, leading to the
mnstitutionalization and stabilization of change. The monitoring of progress 1s necessary and

forms a small feedback loop 1n correcting action.

There 1= always resistance to any change being introduced. Sometimes resistance plays a
positive role in warning the organization of possible consequences. Generally. resistance is
caused by various kinds of fear and lack of attention to the actual process. Effective
strategies for coping with resistance can be achieved by understanding and deahing with the

sources of resistance.

Sub questions

Question Number : 146 Question Id : 5362284539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In the process of planned change, who plays an important role?
(4) Corporate Management

(B) Consumers

(C) External consultant

(D) Implementation team

(E) Chief implementer

Choose the correct answer from the options given below :

(1) (B). (C). (D) and (E) (2) (A (B). (D) and (E)
(3) (A). (C). (D) and (E) 4) (A (B). (C)and (D)
Options :

53622817681. 1
53622817682. 2
53622817683. 3
53622817684. 4

Question Number : 147 Question Id : 5362284540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Change can be stabilized 1n an organization by

(1) Systematic planning and implementation

(2) Providing regular feedback

(3) Closely monitoring the change process

(4) Providing financial support to implement change

Options :

53622817685. 1
53622817686. 2
53622817687. 3
53622817688. 4

Question Number : 148 Question Id : 5362284541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

For an organizationl change to be successful, what 15 essential?

(1) Motivation of emplovee (2) Decentralization of power
(3) Monitoring of progress made (4) Support of the society
Options :

53622817689. 1
53622817690. 2
53622817691. 3
53622817692. 4

Question Number : 149 Question Id : 5362284542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Organizational change 1s resisted because of

(1) Fear of different kinds and uncertainty

(2) No financial benefit to employvees

(3) Social pressure

(4) Change 1n international scenario
Options :

53622817693. 1
53622817694. 2
53622817695. 3
53622817696. 4

Question Number : 150 Question Id : 5362284543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How can an organization cope with resistance to change?

(1) Adhere to striet rules of the organization
(2) Motivate employees to work

(3) Convey to the employees that 1t 1s needed for organizational development
(4) Work — strategy after understanding the source of resistance
Options :

53622817697. 1
53622817698. 2
53622817699. 3
53622817700. 4

Question Id : 5362284538 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 5362284539 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817681. 1
53622817682. 2
53622817683. 3
53622817684. 4

Question Number : 147 Question Id : 5362284540 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622817685. 1
53622817686. 2
53622817687. 3
53622817688. 4

Question Number : 148 Question Id : 5362284541 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817689. 1



53622817690. 2
53622817691. 3
53622817692. 4

Question Number : 149 Question Id : 5362284542 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622817693. 1

53622817694. 2

53622817695. 3
53622817696. 4

Question Number : 150 Question Id : 5362284543 Question Type : MCQ Option Shuffling : No Is Question
Mandatory : No

Correct Marks : 2 Wrong Marks : 0
I3 HiT2A THEda & ufeaia H FH o2 w27
(1)  =73a « f9ami &1 FE 9 Iem =
(2)  wHaErE w #E % e e
(3)  HHATHE F1 97 Famst T Tiada gnadards faem & o arasas 2
(4)  ufata & =@ia 5 gEE & 918 0HE dan w
Options :
53622817697. 1
53622817698. 2

53622817699. 3
53622817700. 4



